

CRITERION 5

Student Support and Progression

- 5.1.1. Average percentage of students benefited by scholarships and freeships provided by the Government during last five years
 - 1. Sanction letter of scholarships and free ship by Government
 - 2. Year wise list of students benefited by scholarships and free ships provided by the Government

Submitted to



National Assessment and Accreditation Council

NA FOR THE YEAR 2016-17 AWARD ROLL OF POST MATRIC SCHOLARSHIP CHEME FOR 3C STUDENTS IN HAR

Name of the Institution: SAT JINDA KALYANA COLLEGE

: KALANAUR (ROHTAK) City/Town

Email. Address:- sjkc@rediffmail.com

Principal Mobile No. 8607022439

Bank A/C No. 33490001000433-

IFSC Code No. PUNB03349

MICR Code No. 00002

Nodal Officer Email address: bhaskarrkdr@gmail.com

Nodal Officer Mobile No.0941649593

FRESH CASES

Particulars No. of Students Students Share				Total Amount of Management Share	Total Amount of	
		Maintenance	Fee Paid by Students (If any)	(i)	(ii)	(i+ii)
Davis (Dav Scholar)	20			133560.00	32800.00	166360.00
The same of the sa				202278.00	35490,00	237768.00
	10		- Comment of the comm	335838.00	68290.00	404128.00
	Particulars Boys (Day Scholar) Girls (Day Scholar) TOTAL	Particulars No. of Students Boys (Day Scholar) 20 Girls (Day Scholar) 29	Particulars No. of Students S Maintenance Allowance Allowance Boys (Day Scholar) 20 60000 Girls (Day Scholar) 29 87000	Particulars No. of Students Students Share Maintenance Allowance Fee Paid by Students (If any)	Particulars No. of Students Students Share Total amount of Student Share	Particulars No. of Students Students Share Total amount of Student Share Total Amount of Management Share

Sr.No.	VAL CASES Particulars	No. of Students	nts Students Share		Total amount of Student Share	Total Amount of Management Share	Total Amount of C
51.110.			Maintenance Allowance	Fee Paid by Students (If any		(ii)	(i+ii) 59164.00
1	Boys (Day Scholar)	8	28800	15564	44364.00	14800.00	98952.00
2	Girls (Day Scholar)	14	50400	27692	78092.00	20860.00	158116.00
- 4	TOTAL	22/	79200	43256	122456.00	35660.00	150110.00

GRAND Sr.No.	Particulars	No. of Students	Stı	Students Share		Total Amount of Management Share	Total Amount of Cl
51.110.	Tarticulars	1,000	Maintenance Allowance	Fee Paid by Students (If any)	(i)	(ii) 47600.00	(i+ii) 225524.00
1	Boys (Day Scholar)	28	88800	89124	177924.00	56350.00	336720.00
1		43	137400	142970 /	280370.00	103950.00	562244.00
2	Girls (Day Scholar) TOTAL	712	226200	232094	458294.00		-
	TOTAL			(Rs. Five Lac Sixty Tv	vo Thousand Two Hu	ndred & Forty Four only)	

Checked & Verified

(Convener)

at Jinda Kalvana College

4 f R. 562244

Dr. R.K.Bhaskar (Nodal Officer)

Principal a!

AWARD ROLL OF POST MATRIC SCHOLARSHIP SCHEME FOR BC STUDENTS IN HARYANA FOR THE YEAR 2016-17

Name of the Institution: SAT JINDA KALYANA COLLEGE

: KALANAUR(ROHTAK) City/Town

Name of the Bank: P.N.B. KALANAUR

Bank A/C No.

3349000400575758

IFSC Code No. MICR Code No. PUNB0334900 000024000

FRESH CASES

Sr.No.	Particulars	No. of Students	Maintenance Allowance	Other Funds	Total Amount
1	Boys (Day Scholar)	-80€	16800:00	2800	16800.00 1600
2	Girls (Day Scholar)	7	14700.00	T	14700.00
	TOTAL	15 (13)	31500.00		31500.00

RENEWAL CASES

Sr.No.	Particulars	No. of Students	Maintenance Allowance	Other Funds	Total Amount
1	Boys (Day Scholar)	2	5040.00		5040.00
2	Girls (Day Scholar)	11	27720.00		27720.00
	TOTAL	13	32760.00		32760.00

CONSOLIDATED

Other Maintenance No. of Students Allowance Funds **Total Amount Particulars** Sr.No. Boys (Day Scholar) 10 21840,00 21840.00 Girls (Day Scholar) 18 A2420.00 -42420.00 _64260.00 64260.00 TOTAL 25 60060

(Rs. Sixty Four Thousand Two Hundred-Sixty only)

Checked & Verified

Principal
Principal
Sat Jinda Kalyana College
Kalanaur (Rohtak) Haryana Mauta (Convener)

Principal

(Member)

Dr. R.K.Bhaskar

(Nodal Officer)

Sat Jinda Principal

AWARD ROLL OF POST MATRIC SCHOLARSHIP SCHEME FOR SC STUDENTS OF UG-II & III year FOR THE SESSION 2017-18

Name of the Institution: SAT JINDA KALYANA COLLEGE : KALANAUR (ROHTAK) I mail. Address:- sjke a rediffmail.com Principal Mobile No. 8607022439

Bank A/C No. 3349000100043348 IFSC Code No. PUNB0334900 MICR Code No. 000024000

Nodal Officer Email address: bhaskarrkdr@gmail.com

Nodal Officer Mobile No.09416495934

FRESH CASES

. No.	Particulars	No. of Students	Stude	ents Share	Total amount of Student Share	Total Amount of Management Share	Total Amount of Claim
			Lee Paid by Students (If any)	(i)	(ii)	(i+ii)	
1	Boys (Day Scholar)	0	0	0	0.00	0.00	0.00
2	Girls (Day Scholar)	0	0	0	0.00	0.00	0.00
	TOTAL	0	0	0	0.00	0.00	0.00

12.1	1	"	41	1	15	-

r.No.	Particulars Students Students Share		nts Share	Total amount of Student Share	Total Amount of Management Share	Total Amount of Claim	
			Maintenance Allowance	Fee Paid by Students (If any)	(i)	(ii)	(i+ii) ·
1:	Boys (Day Scholar)	19	68400	0	68400.00	79942.00	148342.00
. 2	(Girls (Day Scholar)	32	115200	0	115200.00	120316.00	235516.00
	TOTAL	51	183600	0	183600.00	200258.00	383858.00

Sr.No.	Particulars	No. of Students			Fotal amount of Student Share	Total Amount of Management Share	Total Amount of Claim
			Maintenance Allowance	Fee Paid by Students (If any)	(i)	(ii)	
·cD	Boys (Day Scholar)	19	68400	0	68-100.00	79942.00	148342.00
(Fr	Girls (Day Scholar)	1 22	115209	0	115200.00	120316.00	235516.00
. 0	TOTAL	(5V	183660	0	183600.00	200258.00	383858.00

(Rs. Three Lac Eighty Three Thousand Eight Hundred & Fifty Eight only)

Checked Principal

Sat Jinda Kaiyana College
Kalanaur (Rohtak) Haryana
(Convener)

Mante

Panchkula*

Dr. R.K.Bhaskar Audaor (Nodal Officer) Higher Education, Haryana

· Cellega

AWARD ROLL OF POST MATRIC SCHOLARSHIP SCHEME FOR SC STUDENTS IN UG IST YEAR THE SESSION 2017-18

Name of the Institution: SAT JINDA KALYANA COLLEGE

City/Town : KALANAUR (ROHTAK)

Email. Address:- sjkc@rediffmail.com

Principal Mobile No. 8607022439

Bank A/C No. 3349000100043

IFSC Code No. PUNB0334

MICR Code No. 000024

Nodal Officer Email address: bhaskarrkdr@gmail.c

Nodal Officer Mobile No.09416495934

FRESH CASES

Sr.No	Particulars	No. of Students	Stude	ents Share	Total amount of Student Share		Total Amount of Claim	
		Maintenan Allowanc		Fee Paid by Students (If any)	(i)	(ii)	(i+ii)	
1	Boys (Day Scholar)	. 30	84000	0	84000.00	172200.00	256200.00	
2	Girls (Day Scholar)	26	73800	0	73800.00	155400.00	229200.00	
	TOTAL	56	157800	. 0	157800.00	327600.00	485400.00	

(Rs. Four Lac Eighty Five Thousand Four Hundred only)

Checked & Verified

Principal

Sat Jinda Kalyana College Kalanaur (Rohtak) Haryana

Dr. R.K.Bhaskar (Nodal Officer)

Principalincipal

Auditor Mer Education, **Harran** da Kalyana College Panchkula KALANAUR (Rohtak) Haryana

MAKE ROLL OF LOST STATES OF HOLSTONIA SCHO Name of the Institution: SAT JINDA KALYANA COLLEGE

City/Town : KALANAUR (ROHTAK) Fmail. Address:- sjke a rediffmail.com Principal Mobile No. 8607022439

Acitic has con.

334900400575758 Bank A/C No. IFSC Code No. PUNB0334900

Nodal Officer Mobile No.09416495934

MICR Code No. 000024000 Nodal Officer Email address: bhaskarrkdra gmail.com

Sr No.	Particulars	No. of lars Students Share		nts Share	Lotal amount of Student Share	Total Amount of Management Share	Total Amount of Claim
			Maintenance Allowance	Fee Paid by Students (If any)	(i)	(ii)	(i+ii)
1	Boys (Day Scholar)	0	0	0	0.00	0.00	0.00
2	Girls (Day Scholar)	0	0	0	0.00	0.00	0.00
	TOTAL	0	0	0	0.00	0.00	0.00

RENEWAL CASES Total Amount of Total amount of No. of Total Amount of Claim Management Share Students Share Student Share Particulars Students Fee Paid by Students Maintenance (i+ii) (ii) (If any) Allowance 0.00 0.00 0.00 Boys (Day Scholar) Girls (Day Scholar) 0 0 25052.00 0.00 25052.00 14972 10080 25052.00 25052.00 0.00 14972 10080 TOTAL

r.No.	Particulars	No. of Students	Student			Total Amount of Management Share	Total Amount of Claim
r.ino.	Particulars	Johnson	Maintenance Allowance	Fee Paid by Students (If any)	(i)	(ii)	; (i+ii)
			O.	0	0.00	0.00	
1	Boys (Day Scholar)	0	0 .	14972	25052.00	0.00	25052.00
2	Girls (Day Scholar)	1	10080	14972	25052.00 (0.00	25052.00
	TOTAL	1/4/	10080	nty Five Thousand Fit	(n. Two only)		10 1)

(Dr. R.K.Bhaskar) Nodal Officer

Auditor O'e Bhecter Higher Education, Haryana Panchkula

Principal Principal Sat Jinda Principal College

KALANATH (Time

Principal

AWARD ROLL OF POST MATRIC SCHOLARSHIP SCHEME FOR BC STUDENTS OF UG 1ST YEAR FOR THE SESSION 2017-18 Name of the Institution : SAT JINDA KALYANA COLLEGE

City/Town : KALANAUR(ROHTAK)

Name of the Bank: P.N.B. KALANAUR

Bank A/C No. IFSC Code No.

3349000400575758 PUNB0334900

F	RESH CASES			MICR Code No.	
Sr.No.	Particulars Boys (Day Scholar)	No. of Students	Maintenance Allowance	Other Funds	Total 4
2	Girls (Day Scholar) TOTAL	16	13860.00 31500.00	-	Total Amount
		(Rs. Fort. 5	45360.00		31500.00 45360.00

(Rs. Forty five Thousand Two Hundred Sixty only)

Checked & Verified

Sat Jinda Kalyana College Kalanaur (Rohtak) Haryana

Principal Sat Jinda Kalyana Sollege **КАЦАМАЦЯ (Белгак) негузла**

O/o Director Higher Education, Haryana Panchkula





AWARD ROLL OF POST MATRIC SCHOLARSHIP SCHEME FOR BC STUDENTS OF UG-II & III YEAR FOR THE SESSION 2017-18

Name of the Institution: SAT JINDA KALYANA COLLEGE

City/Town : KALANAUR (ROHTAK) Email. Address:- sjkc@rediffmail.com Principal Mobile No. 8607022439

Bank A/C No.

334900400575758

IFSC Code No.

PUNB0334900

MICR Code No. 000024000 Nodal Officer Email address: bhaskarrkdr@gmail.com

Nodal Officer Mobile No.09416495934

FRESH CASES

Sr.No.	Particulars	No. of Students	Stude	ents Share	1 Ottal miliount of	Total Amount of Management Share	Total Amount of Claim
			Maintenance Allowance	Fee Paid by Students	(i)	(ii)	(i+ii)
1	Boys (Day Scholar)	2	4200	0 180	4200:00 438	0.00	4 20 0.00 439
2	Girls (Day Scholar)	2	4200	0	4200.00	0.00	4200.00
	TOTAL	4	8400	0 180	8400.00 \$758	0.00	8400.00 858

Sr.No.	AL CASES Particulars	No. of Students	Students	Share	1 out minount of	Total Amount of Management Share	Total Amount of Claim
			Maintenance Allowance	Fee Paid by Students	(i)	(ii)	(i+ii)
1	Boys (Day Scholar)	2	5040	0180	5040.00 522	0.00	5040.00 \$22
2	Girls (Day Scholar)	7	20160 17640	0 .	1764020160.00	0.00	20160:00 12-6
	TOTAL	9	35200 22680		25290.00		25200.00 253

OTAL				990		
Particulars	No. of Students	No. 30 W 10 10 10 10 10 10 10			Total Amount of Management Share	Total Amount of Claim
		Maintenance Allowance	Fee Paid by Students (If any)	(i)	(ii)	(i+ii)
Boys (Day Scholar)	4	9240	0360/	9240.00 9600	0.00	9240.00 980
	9	21840	0	21840.00	0.00	21840.00
TOTAL	13, /	31080	0		40-00 0.00	31080.00 314
	Boys (Day Scholar) Girls (Day Scholar)	Particulars Students Boys (Day Scholar) 4 Girls (Day Scholar) 9	Particulars Students Students Maintenance Allowance	Particulars Students Students Share	Particulars Students Students Share Student Share	Particulars Students Studen

(Rs. Thirty One Thousand Eighty only)

& Verified:-Principal

Sat Jinda Kalyana College Kalanaur (Rohtak) Haryana Convener

(Dr. R.K.Bhaskar) Nodal Officer Auditor

Higher Education, Haryana Panchkula

SUMMARY AWARD ROLL OF POST MATRIC SCHOLARSHIP SCHEME FOR SC STUDENTS FOR THE SESSION 2018-19

Name of the Institution: SAT JINDA KALYANA COLLEGE

City/Town : KALANAUR (ROHTAK) Email. Address:- sjkc@rediffmail.com Principal Mobile No. 8607022439

Bank A/C No. 3349000100 IFSC Code No. PUNB0 MICR Code No. 000

Nodal Officer Email address: bhaskarrkdr@gm Nodal Officer Mobile No.09416

FRESH CASES

Sr.No.	Particulars	No. of Students Share		ents Share	Total amount of Student Share	Total Amount of Management Share	Total Amount of
			Maintenance Allowance	Fee Paid by Students (If any)	(i)	(ii)	(i+ii)
1	Boys (Day Scholar)	. 0	0	0	0.00	0.00	0.00
2 -	Girls (Day Scholar)	0	0	0	0.00	0.00	0.00
	TOTAL	0	0	0	0.00	0.00	0.00

Sr.No.	Particulars	No. of Students	Stude	ents Share	To:al amount of Student Share	Total Amount of Management Share	Total Amount of
			Maintenance Allowance	Fee Paid by Students (If any)	(i)	(ii)	(i+ii)
\mathbf{D}_{2}^{1}	Boys (Day Scholar)	1	3600	4373	7973.00	0.00	7973.00
2	Girls (Day Scholar)	0	0	0	0.00		
	TOTAL	1	3600	1272		0.00	0.00
OD . NO			3000	4373	7973.00	0.00	7973.00

Sat Jinda Kalyaran Nop	lege Particulars	No. of Students	Stude		Total amount of Student Share	Total Amount of Management Share	Total A
Sat Jinda Kalya Hari Kalanaur (Rohiak) Har	-		Maintenance Allowance	Fee Paid by Students (If any)			Total Amount of
1 0 1	Boys (Day Scholar)	1	3600	4373	7077.00	(ii)	(i+ii)
1 7873 -67 2	Girls (Day Scholar)	8	0	1373	7973.00	0.00	7973.00
12 h. 10	TOTAL	(1)	3600	100	0.00	0.00	0.00
11				ousand Nine Hundred S	7973.00	0.00	7973.00
Checked	& Verified :-		111	Sousand Nine Hundred S	severty Three only)		/
102	Mant	a	Shalm	Frank	,		

Mauta (Convener)

(Member)

Dr. R.K.Bhaskar (Nodal Officer)

Principa

AWARD ROLL OF FOST MATRIC SCHOLARSHIP SCHEME FOR SC SIL DENTS FOR THE SESSION 2018-18 B : SAT JINDA KALYANA COLLEGE Bank UC No.

Name of the Institution: SAT JINDA KALYANA COLLEGE
City Town SALANAUR (ROHTAK)
Email. Address + jks 3 rediffmail.com
Principal Mobile No. 8667022439

3349000100043348 IFSC Code No. PUNB0334900 MICR Code No. 000024000

Nodal Officer Email address: bb iskarrkdr@gmail.com Nodal Officer Mobile No.09416495934

Sr.No.	Particulars	No of Students	Stude	nts Share	Total amount of Student Share	Total Amount of Management Share	Total Amount of Claim
			Maintenance Allowance	f ee Paid by Students (If any)	(i)	(fi)	, (i+ii)
- 1	Ben (Day Scholar)	1 22	65100	179866	244966.00	0.00	244966.00
-	Gris Day Scholar)	33	98100	193709	291809.00	0.00	291809.00
	TOTAL	55 /	163200	373575	539775.00	0,00	536775/20

Sr.No Particulars		No. of Students	Stude	nts Share	Total amount of Student Share	Total Amount of Management Share	Total Amount of Claim
			Maintenance Allowance	Fee Paid by Students (If any)	(i)	(ii)	(i-ii)
1	Bons (Day Scholar)	27	97200	118871	215071.00	0.00	216071.00
	Gers (Day Scholar)	41 /	147600	176495	324095.00	11398.00	335493.00
	TOTAL	69/	244800	295366	549166.00	11398.00	551564.00

GRAND	TOTAL						
Sr.No.	Particulars	No. of Students	Studen	ts Share	Total amount of Student Share	Total Amount of Management Share	Fotal Amount of Claim
			Maintenance Allowance	Fee Paid by Students (If any)	(i)	(ii)	(i-ii)
1	Boxs (Day Scholar)	19/	162300	298737	461037.00	0.00	461037.00
2	(Girls (Day Scholar)	74/	245700	370204	615904.00	11398.00	627302.00
	TOTAL	123	408000	668921	1076941,80	11398.00	(1088339.00

(Rs. Ten Lac Edghty Eight Thousand Three Hundred & Thirty Nine only)

Mante (Convener)

(Member)

Sins Dr. R.K.Bhaskar (Nodal Officer)

Sat Jinda Katyana College

WARD ROLL OF POST MATRIC SCHOLARSHIP SCHOOL FOR BC FATHER LESS STUDENTS OF LASS FOR THE SESSION 2018-19

Name of the Institution : SAT JINDA KALYANA COLLEGE City/Town : KALANAUR (ROHTAK) Email. Address:- sjke@rediffmail.com Principal Mobile No. 8607022439

Bank A/C No. 334900-IFSC Code No. PUN MICR Code No.

Nodal Officer Email address: bhaskarrkdr@

Nodal Officer Mobile No.09

Sr.No.	Particulars	No. of Students		Students Share		Total amount of Student Share	Total Amount of Management Share	Total An
			Maintenance Allowance	Fee Paid by Students (If	Tution Fee @ 25%	(i)	(ii)	
1	Boys (Day Scholar)	1	/ 2100	5873	0.00	7973.00	0.00	70
2	Girls (Day Scholar)	1	2100	5753	0100	777.777	0.00	75
	TOTAL AL CASES	2	4200	11626	0100		0.00	15

RENEW	AL CASES	- 24 4		11020	1 0.00	4200.00	0.00	15
Sr.No.	Particulars	No. of Students		Students Share		Total amount of Student Share	Total Amount of Management Share	Total An Claim
			Maintenance Allowance	Fee Paid by Students (If	Tution Fee @ 25%	6)		Ciaiii
1	Boys (Day Scholar)	0	0	0.00	0.00	(1)	(ii)	-
2	Girls (Day Scholar)	2	5040		0.00		0.00	
	TOTAL	-		8306.00	0.00	13346.00	0.00	13
GRAND	TOTAL	2	5040	8306.00	0.00	13346.00	0.00	13

Sr.No.	Particulars	No. of Students		Students Share	*	Total amount of Student Share	Total Amount of Management Share	Total A Claim
			Maintenance Allowance	Fee Paid by Students (If	Tution Fee @ 25%	42	Management Share	Claim
1	Boys (Day Scholar)	1	2100	5873.00	0.00	(1)	(ii)	
2	Girls (Day Scholar)	3	7140	14059.00	0.00	1313.00	0.00	7
	TOTAL	1	9240		0.00	21199.00	0.00	2
	10.5	-		19932.00	and one hundred sever	29172.00	0.00	20

(Dr. R.K.Bhaskar) Nodal Officer

Sat Jisda Kalyar MALANAUR (Rohta

SUMN.

AN ARD ROLL OF POST MATRIC SCHOLARSHIP SCHEME FOR BC STUDENTS OF UG CLASS FOR THE SESSION 2018-19

Name of the Institution : SAT JINDA KALYANA COLLEGE

City/Town : KALANAUR (ROHTAK) Email. Address:- sjkc@rediffmail.com Principal Mobile No. 8607022439

Bank A/C No. 334900-IFSC Code No. PUN MICR Code No.

Nodal Officer Email address: bhaskarrkdr@

Nodal Officer Mobile No.09

Sr.No.	Particulars	No. of Students		Students Share	Total amount of Student Share	Total Amount of Management Share	Total Arr Claim	
			Maintenance Allowance	Fee Paid by Students (If any)	(i)	(ii)		
1	Boys (Day Scholar)	6	12600	0	12600.00	0.00	12	
2	Girls (Day Scholar)	15	31080	0	31080.00	0.00	31	
	TOTAL	21	43680	0	43680.00	0.00	43	

RENEWAL CASES Total Amount of Total Ar Total amount of Student Share Management Share Claim Students Share Sr.No. Particulars No. of Students Maintenance (ii) Allowance Fee Paid by Students (If any) 2520.00 0.00 2520 Boys (Day Scholar) 0.00 0 12600.00 12600 Girls (Day Scholar) 0.00 15120.00 15120

GRAND Sr.No.	Particulars	No. of Students		Students Share	Total amount of Student Share	Total Amount of Management Share	Total /
SIL TO			Maintenance Allowance	Fee Paid by Students (If any)	(i)	(ii)	
	1	7	15120	0	15120.00	0.00	_
1	Boys (Day Scholar)	/		0	43680.00	0.00	
2	Girls (Day Scholar)	20	43680	0	58800.00	0.00	
	TOTALD	27	58800	0			
	CCTED			(Rs Fifty Eight Thousand Eight Hun	dred only)		

Sat Jinda Kalyana College Kalanaur (Rohtak) Haryana

Convener Principal

(Dr. R.K.Bhaskar) Nodal Officer

Set Jinda Kaly KALANAUR (FO

T-JINDA KALYANA COLLEGE PALANATE

Summary of Award Roll PMS for OBC students for the year 2019-20

Nodal Officer Mobile No. 09411:495934

Name of Institution :-Sat Jinda Kalyana College, Kalanaur (Rohtak)

Nodal Officer Email Address - bhaskarrkdr@gmail.com

Fmail Address :-sike a rediffmail.com

Father Less Students

nimal Mo	bile No. 8607022439			Pather	Total amount of Scholarship
Cipai .ric	FOR FRESH CASES		Maintenance Allowance	Fee Paid by Student (Father Less)	Total amount of School and
r. No.	Particulars	No. of Students	Manual Control of the		8213.60
		-	2100.00	6113.00	0.00
1	Boys (Day Scholat)		0.00	0.00	0.00
2	Boys (Hentler)	- 0	0.00	0.00	0.00
1	Gurls (Day Scholar)	0	0.00	0.00	8213.00
1	Garls (Hostler)	0	2100.00	6113.00	3210,000

	Tota	1(a)	2100.00	100000	Total amount of Scholarship
	FOR RENEWAL CASES		Maintenance Allowance	Fee Paid by Student (Father Less)	Total amount of Scholar stop
Sc. No.	Particulars	No. of Students	Maintenance Attornance		
				4133.00	6653.00
-	Boys (Day Scholar)	1	2520.00	0.00	0.00
	Boys (Hostler)	0	0.00	7906.00	12946.00
	Gatis (Day Scholar)	1	5040.00	0.00	0.00
	(Garis (Figstler)	0	0.00		19599,00
		tal (b)	7560.00	12039.00	

Grand Total (a+b)

		1/20.00	10246.00	14366/00
loys	2	4620.00	7906.00	12946 00
	3	5040.00		The second secon
Girb	-	9660.00	18152.00	27812.00
Total Amount of Scholarship	4	9660.00	1,5790	

(Rs. Twenty Seven Thousand Eight Hundred & twelve Out)

"It is certified that all the students enrolled in the post matric scholarship scheme have appeared in their respective examand their necessary documents required with the scheme are checked and serified by the Institution/University

Maule (Dr. Mamta Rani) Convener

(Dr. Shalini Sharma) Member

(Dr. R.K.Bhaskar) Nodal Officer

(Dr. N.K.Dua) Principal rincipal Sat Jinda K. Walla Coll Kalanaur (Rohlek) Haryi

Summary of Award Roll PMS for OBC students for the year 2019-20

of Institution -Sat Jinda Kalyana College, Kalanaur (Rohtak)

Nodal Officer Mobile No. 09416495934

Address :-sjko@rediffmail.com

Nodal Officer Email Address:- bhaskarrkdr@gmail.com

foal Mobile No. 8607022439

	FOR FRESH CASES				
Se. No.	Particulars	No. of Students	Maintenance Allowance	Fees applicable to the students or 25% of Tuition Fee for BC Students	Total amount of Scholarship
8 1	Boys (Day Scholar)	7	14700.00	0.00	14700.00
G 2	Boys (Hostler)	0	0.00	0.00	0.00
863	Gris (Day Scholer)	8	16890.00	0.00	16800.00
4	Gra (Hostler)	0	0.00	0.00	0.00
Ale:	Total (a	15	31500.00	0.00	31500.00

Sc. No.	Particulars	No. of Students	Maintenance Allowance	Fees applicable to the students or 25% of Tuition Fee for BC Students	Total amount of Scholarship
5.1	Boys (Day Scholar)	10	25200.00	90.00	25290.00
2	Boys (Hostler)	0	0.00	0.00	0.00
3	Girls (Day Scholar)	10	25200.00	0.00	25200.00
8 4	Girls (Hostler)	0	0.00	0.00	0.00
	Grand Total (n+b)	20	50400.00	90.00	50490.00

17	39900.00	90.00	39990.00 College
18	42000.00	0.00	
35	81900.00	90.00	1 81990.00 Sat Jinda K ak) Harr
		18 42000.00	18 42000.00 0.00

"This cartified that all the students enrolled in the post matric scholarship scheme have appeared in their respective exam and their necessary documents required with the scheme are checked and verified by the Institution/University

Maute (Dr. Mamta Rani) Convener

(Dr. R.K.Bhaskar) Nodal Officer

(Dr. N.K.Dua) Principatineipal Sat Jinda Kalyana C

Megal

SAT JINDA KALYANA COLLEGE, KALANAUR
Award Roll for Post Matric Scholarship for SC/B.C. Students for the Academic Year 2016-2017

Sr. No.	Student Name	Father Name	Catoga	Class	Roll No.	Name of Scheme	Maintance Rate	Maintance Month	Total Maintance	Fee/Fund Paid By Students	Scholarship Amount to the students	Non refundable Fee/funds	Total Amount of Scholarship	Mode of Reciept	Date of Reciept of All five years
D)	Savita	Sh. Rajbir	sc	B.A.I	108	Post Matrie Scholarship Scheme	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	Direct Benefit Transfer (DBT) in Bank A/c of Student	Since DBT is done and students do not share the date with the college so that the date of reciept is not available
	2 Ritu	Sh. Suraj bhan	SC	B.A.I	110	PMS	300.00	10.00	3000.00	5028.00	8028.00	0.00	8028.00	do	do
	3 Jyoti	Sh.brhma nand	SC	B.A.I	142	PMS	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do
	4 Sapna	Sh. Rohtas	SC	B.A.I	143	PMS	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do
-	5 Suman	Sh. Dharampal singh	SC	B.A.I	148	PMS	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do
	6 Pooia	Sh. Rajesh	SC	B.A.I	156	PMS	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do
- 77	7 Chanchal	Sh. Har bhagwan	SC	B.A.I	160	PMS	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do
	8 Mamta	Sh. Dilbagh	SC	B.A.I	162	PMS	300.00	10.00	3000.00	5028.00	8028.00	0.00	8028.00	do	do
	9 Poonam	Sh. Naseeb singh	SC	B.A.I	167	PMS	300.00	10.00	3000.00	3398.00	6398.00	1690.00	8088.00	do	do
	0 Rajni	Sh. Rai kumar	SC	B.A.I	169	10000	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do
	1 Anu	Sh. Dayanand	SC	B.A.I	172	PMS	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do.
_	2 Kavita	Sh. Suresh kumar	SC	B.A.I	186	PMS	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do
	3 Kiran	Sh. Jai naryan	SC	B.A.I	189	19,77	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do
	4 Jyoti	Sh. Ishwar singh	SC	B.A.I	194	PMS	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do
	5 Ritu	Sh. Daya kishan	SC	B.A.I	203	PMS	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do
	6 Priyanka	Sh. Ramphal singh	SC	B.A.I	210	0.00000	300.00	10.00	3000.00	5028.00	8028.00	0.0	8028.00	do	do
	7 Jamna	Sh. Satish	SC	B.A.I	214		300.00		3000.00	3338.00	6338.00	1690.00	8028.00	do	do
- 33	8 Nidhi	Sh.ram niwas	SC	B.A.I	219		300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	AI	TES LED
-	9 Shashi	Sh. Raj singh	SC	B.Com I	701	Transaction)	300.00	100000	3000.00	5088.00	8088.00	0.0	0 8088.00	do	11 100 8
	0 Deeksha	Sh. Balieet	SC	B.Com I	0352	57101	300.00		3000.00	3398.00	6398.00	1690.0	8088.00	do	,do

21	Komal	Sh. Hawa singh	SC	B.A.I	101	PMS	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do
22	Sushita	Sh. Ved parkash	SC	B.Com I	710	PMS	300.00	10.00	3000.00	5088.00	8088.00	0.00	8088.00	do	do
23	Meenakshi	Sh. Jai kunwar	SC	B.Com. I	729	PMS	300.00	10.00	3000.00	3398.00	6398.00	1690.00	8088.00	do	do
24	Aarti rani	Sh. Khreti lal	SC	B.Com I	738	PMS	300.00	10.00	3000.00	3398.00	6398.00	1690.00	8088.00	do	do
25	Nisha	Sh. Satpal singh	SC	B.Com I	742	PMS	300.00	10.00	3000.00	3398.00	6398.00	1690.00	8088.00	do	do
26	Jyoti	Sh.dharam singh	SC	B.Com I	746	PMS	300.00	10.00	3000.00	3338.00	6338.00	1690.00	8028.00	do	do
27	Pooja	Sh. Rama nand	SC	B.Com.II	826	PMS	300.00	10.00	3000.00	3468.00	6468.00	0.00	6468.00	do	do
28	Sheetal	Sh. Ram lal	SC	B.Com	920	PMS	300.00	10.00	3000.00	3568.00	6568.00	0.00	6568.00	do	do
29	Somwati	Sh. Mange ram	SC	B.C.A.III	1302	PMS	300.00	10.00	3000.00	12584.00	15584.00	0.00	15584.00	do	do
30	Rohit	Sh. Ganga ram	SC	B.A.I	180	PMS	300.00	10.00	3000.00	5388.00	8388.00	0.00	8388.00	do	do
31	Uma shankar	Sh. Preetam	SC	B.A.I	182	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
32	Mandeep	Sh. Balwan singh	SC	B.A.I	199	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
33	Vikas kumar	Sh.rajander	SC	B.A.I	218	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
34	Arjun	Sh. Veer singh	SC	B.A.I	220	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
35	Deepak	Sh. Dhrampal	SC	B.A.I	221	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
36	Vikas	Sh. Rohtas	SC	B.A.I	229	PMS	300.00	10.00	3000.00	5388.00	8388.00	0.00	8388.00	do	do
37	Rajesh	Sh. Raj kumar	SC	B.A.I	242	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
38	Naveen	Sh. Wazir singh	SC	B.A.I	245	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
39	Ajay	Sh. Virbhan	SC	B.A.I	247	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
40	Karambir	Sh.ramesh	SC	B.A.I	252	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
41	Ajay	Sh. Narsingh bhagwan	SC	B.A.I	261	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
42	Vishal	Sh. Surender	SC	B.A.I	274	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
43	Kamal	Sh. Krishan	SC	B.A.I	276	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
44	Rinku	Sh. Ram kishan	SC	B.A.I	278	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
45	Shiv kumar	Sh. Dariya singh	SC	B.A.I	279	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
46	Narpender	Sh. Surender singh	SC	B.A.I	282	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
47	Akshay kumar	Sh. Kuldeep singh	SC	B.A.I	284	PMS	300.00	10.00	3000.00	3338.00	6338.00	2050.00	8388.00	do	do
48	Sonu	Sh.ajit singh	SC	B.Com.I	725	PMS	300.00	10.00	3000.00	5448.00	8448.00	0.00	8448.00	do	do
49	Sombir	Sh. Man phool	SC	B.Com.II	921	PMS	300.00	10.00	3000.00	3928.00	6928.00	0.00	6928.00	do	, do
50	Seema	Satbir	SC	B.A.II	313	PMS	300.00	12.00	3600.00	1918.00	5518.00	1490.00	7008.00	do	do

2

PrincipaTTESTED
Sat Jinda Kalyana College
Kalanaur (Rohtak) Hanyana

51	Jyoti kumari	Azad singh	SC	B.A.II	318	PMS	300.00	12.00	3600.00	1918.00	5518.00	1490.00	7008.00	do	do
- 1	Neetu	Radhy shyam	SC	B.A.II	359	PMS	300.00	12.00	3600.00	1918.00	5518.00	1490.00	7008.00	do	do
	Nisha	Dharmbir	SC	B.A.II	367	PMS	300.00	12.00	3600.00	1918.00	5518.00	1490.00	7008.00	do	do
-	Savita	Ishwar singh	SC	B.A.III	520	PMS	300.00	12.00	3600.00	2018.00	5618.00	1490.00	7108.00	do	do
	Manisha	Prahlad singh	SC	B.A.III	538	PMS	300.00	12.00	3600.00	2018.00	5618.00	1490.00	7108.00	do	do
-	Sushil	Jainarayan	SC	B.A.III	540	PMS	300.00	12.00	3600.00	2018.00	5618.00	1490.00	7108.00	do	do
1-00	Sunita	Jainarayan	SC	B.A.III	541	PMS	300.00	12.00	3600.00	2018.00	5618.00	1490.00	7108.00	do	do
100	Anita	Umed singh	SC	B.A.III	543	PMS	300.00	12.00	3600.00	2018.00	5618.00	1490.00	7108.00	do	do
	Aniali	Rakesh kumar	SC	B.A.III	546	PMS	300.00	12.00	3600.00	2018.00	5618.00	1490.00	7108.00	do	do
		Exercise Structures	SC	Control of the last	809	PMS	300.00	12.00	3600.00	1978.00	5578.00	1490.00	7068.00	do	do
-	Manisha	Harbhagwan		B.Com II	810	PMS	300.00	12.00	3600.00	1978.00	5578.00	1490.00	7068.00	do	do
	Kavita	Satish kumar	SC	B.Com II			300.00	12.00	3600.00	1978.00	5578.00	1490.00	7068.00	do	do
	Sangeeta	Joginder singh	SC	B.Com II	811	PMS	F-032-355	12.00	3600.00	1978.00	5578.00	1490.00	7068.00	do	do
	Seema	Jile singh	SC	B.Com II	822	PMS	300.00			1918.00	5518.00	1850.00	7368.00	do	do
	Naveen	Rambhaj	SC	B.A.II	323	PMS	300.00	12.00	3600.00	23.03000	5518.00	1850.00	7368.00	do	do
65	Sandeep kumar	Dharmpal	SC	B.A.II	328	PMS	300.00	12.00	3600.00	1918.00	5518.00	1850.00	7368,00	do	do
	Naveen	Arjun singh	SC	B.A.II	350	PMS	300.00	12.00	3600.00	1918.00		1850.00	7368.00	do	do
67	Ravinder	Charan singh	SC	B.A.II	352	PMS	300.00	12.00	3600.00	1918.00	5518.00		7368.00	do	do
68	Arjun	Rattan singh	SC	B.A.II	362	PMS	300.00	12.00	3600.00	1918.00	5518.00	1850.00	7368.00	do	do
69	Parmjeet	Rajender singh	SC	B.A.II	373	PMS	300.00	12.00	3600.00	1918.00	5518.00	1850.00		do	do
70	Amit kumar	Vinod kumar	SC	B.Com II	835	PMS	300.00	12.00	3600.00	1978.00	5578.00	1850.00	7428.00		do
71	Satish	Mahipal	SC	B.Com	910	PMŞ	300.00	12.00	3600.00	2078.00	5678.00	1850.00	7528.00	do	do
72	Jyoti rani	Sh.satish kumar	BCA	B.A.I	111	PMS	210	10	2100.00	0	0	0.00	2100.00	do	
73	Versha	Sh. Ramphal	BCA	B.A.I	116	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
74	Manju	Sh.sukhbir	BCA	B.A.I	130	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
75	Rekha	Sh. Ramesh	BCB	B.Com.l	705	PMS	210	10	2100.00	0	0	0.00	2100.00	do	do
76	Vandana	Sh. Dinesh kumar	BCA	B.Com.I	720	PMS	210	10	2100.00	0	0	0.00	2100.00	do	do
77	Monika	Sh. Sher singh	BCA	B.Com.I	735	PMS	210	10	2100.00	0	0	0.00	2100.00	do	do
	Chinki	Sh. Krishan lal	BCA	B.Com.I	744	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
	Sanjeev kumar	Sh.ram sanhi morva	BCB	B.A.I	204	PMS	210.00	10	2100.00	. 0.00	0.00	0.00	2100.00	do	do
	Sanjay	Sh. Phool kumar	BCA	B.A.I	237	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do

Sat Jinda Kalyana College Kalanaur (Rohtak) Haryana

3/4

91	Sachin	Omprakasn	ODC	D.COIVI	400					Tota			622304.00		1
	Sachin	Omprakash	OBC	B.COM	808	PMS	210.00	12	2520.00	0.00	0.00	0.00	2520.00	do	de
000	Rohit	Surender kumar	OBC	B.A II	355	PMS	210.00	12	2520.00	0.00	0.00	0.00	2520.00	do	1
41111	Preeti	Ram singh	OBC	B.COM	815	PMS	210.00	12	2520.00	0.00	0.00	0.00	2520.00	do	d
	Hardevi	Ramdhari	OBC	B.COM	813	PMS	210.00	12	2520.00	0.00	0.00	0.00	2520.00	2.500	d
93	Pooja	Dinesh	OBC	B.COM	812	PMS	210.00	12	2520.00	0.00	0.00	0.00	2520.00	do	d
92	Rosy	Umed singh	OBC	B.AIII	547	PMS	210.00	12	2520.00	0.00	0.00	0.00	100000000000000000000000000000000000000	do	d
91	Jyoti	Sombir	OBC	B.A III	514	PMS	210.00	12	2520.00	0.00	0.00		2520.00	do	de
90	Rinku rani	Sita ram	OBC	B.A III	512	PMS	210.00	12	2520.00			0.00	2520.00	do	do
89	Pinki	Surajmal	OBC	B.A II	358	PMS	210.00	12	7777	0.00	0.00	0.00	2520.00	do	do
88	Ravina	Shri bhagwan	OBC	B.AII	351	PMS	210.00		2520.00	0.00	0.00	0.00	2520.00	do	do
_	Sapna	Vinod kumar	OBC	B.A I	332	minuse.	700000	12	2520.00	0.00	0.00	0.00	2520.00	do	do
333	Asha	Harbhagwan				PMS	210.00	12	2520.00	0.00	0.00	0.00	2520.00	do	do
-	Lizarione septimento	22220	OBC	B.A II	325	PMS	210.00	12	2520.00	0.00	0.00	0.00	2520.00	do	do
_	Manisha	Sathir	OBC	B.A II	314	PMS	210.00	12	2520.00	0.00	0.00	0.00	2520.00	do	do
100	Rahul kumar	Sh. Ram kumar	BCA	B.A.II	361	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
	Narender	Sh. Surender singh	BCA	B.A.II	349	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	· do	
	Manoj	Sh. Maman	BCA	B.A.I	266	PMS	210	10	2100.00	0	0	0.00	2100.00	do	do
81	Ravinder	Sh. Mahander singh	BCB	B.A.I	262	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do

Checked & Verfied

Member

Shaha

Nodal Officer

Principal

ATTESTED

SAT JINDA KALYANA COLLEGE, KALANAUR

Award Roll for Post Matric Scholarship for SC/B.C. Students for the Academic Year 2017-2018

Sr. No.	Student Name	Father Name	Catoga	Class	Roll No.	Name of Scheme	Mainta nce Rate	Maintance Month	Total Maintance	Fee/Fund Paid By Students	Scholarship Amount to the students	Non refundable Fee/funds	Total Amount of Scholarship	Mode of Reciept	Date of Reciept of All five years
I.	Sagar	Manoj	Sc	B.A I	1564110020	Post Matric Scholarship Scheme	300	10	3000,00	0.00	3000.00	5598.00	8598.00	Direct Benefit Transfer (DBT) in Bank A/c of Student	Since DBT is done and students do not share the date with the college so that the date of reciept is not available
2	Tamnna	Zile singh	100	B.A I	1564120005	PMS	300	10	3000.00	0.00	3000.00	5238.00	8238.00	do	do -
3	Sumit	Mahasingh		B.A I	1564110027	PMS	300	10	3000.00	0.00	3000.00	5838.00	8838.00	do	do
4	Sandeep	Karampal		B.A I	1564110045	PMS	300		2700.00	0.00	2700.00	5598.00	8298.00	do	- do
5	Ankit	Mehar singh	100	B.A I	1564110047	PMS	300	9	2700.00	0.00	2700.00	5598.00	8298,00	do	do
6	Varsha	Inder singh		B.A I	1564120080	PMS	300	9	2700.00	0.00	2700.00	5238.00	7938.00	do	do
7	Suman	Thilok chand		B.A I	1564120021	PMS	300	10	3000.00	0.00	3000.00	5238.00	8238.00	do	do
8	Sonia	Kanwal singh		B.A I	1564120088	PMS	300	9	2700.00	0.00	2700.00	5478.00	8178.00	do	do
g .	Ajay	Kuldeep		B.A I	1564110008	PMS	300	10	3000.00	0.00	3000.00	5598.00	8598.00	do	do
10	Hitler	Ravinder kumar		B.A I	1564110024	PMS	300	10	3000.00	0.00	3000.00	6078.00	9078.00	do	do
11	Akash	Jile singh		B.A I	1564110043	PMS	300	9	2700.00	0.00	2700.00	6078.00	8778.00	do	do
12	Rahul	Krishan lal		B.A I	1564110037	PMS	300	9	2700.00	0.00	2700.00	5838.00	8538.00	do	do
13	Jaipal	Chand ram		B.A I	1564110054	PMS	300	9	2700.00	0.00	2700.00	5598.00	8298.00	do	do
14	Sudhir	Sataywan		B.A I	1564110021	PMS	300	10	3000.00	0.00	3000.00	5838.00	8838.00	do	do
15	Rishi	Ranbir		B.A 1	1564110022	PMS	300	10	3000.00	0.00	3000.00	5598.00	8598.00	do	do
16	Surender kumar	Bahadur singh		B.A I	1564110023	PMS	300	10	3000.00	0.00	3000.00	5838.00	8838.00	do	do
17	Parul	Subhash		B.A I	1564110041	PMS	300	9	2700.00	0.00	2700.00	5838.00	8538.00	do	do
18	Surender kumar	Rameshwar singh		B.A I	1564110006	PMS	300	10	3000.00	0.00	3000.00	5838.00	8838.00	do	do

19	Sunil	Suresh kumar	Sc	B.A I	1564110029	PMS	300	10	3000.00	0.00	3000.00	5838.00	8838.00	do	do
20	Nirmala rani	Radhey shyam	Sc	B.A I	1564120051	PMS	300	9	2700.00	0.00	2700.00	5238.00	7938.00	· . do	do
21	Amit	Fakhir chand	Sc	B.A I	1564110042	PMS	300	9	2700.00	0.00	2700.00	5838.00	8538.00	do	do
22	Sapna	Fakhirchand	Sc	B.A I	1564120076	PMS	300	9	2700.00	0.00	2700.00	5238.00	7938.00	do	do
23	Ashok	Ishwar singh	Sc	B.A I	1564110046	PMS	300	9	2700.00	0.00	2700.00	5598.00	8298.00	do	do
24	Pankaj	Ishwar singh	Sc	B.A I	1564110059	PMS	300	9	2700.00	0.00	2700.00	5598.00	8298.00	do	do
25	Kiran	Jaikaran	Sc	B.A I	1564120077	PMS	300	9	2700.00	0.00	2700.00	5238.00	7938.00	do	do
26	Ashok kumar	Ram kunwar	Sc	B.A I	1564110036	PMS	300	9	2700.00	0.00	2700.00	6078.00	8778.00	do	do
27	Sushma	Satyawan	Sc	B.A I	1564120059	PMS	300	9	2700.00	0.00	2700.00	5478.00	8178.00	do	do
28	Ravina	Dariya singh	Sc	B.A I	1564120023	PMS	300	10	3000.00	0.00	3000.00	5238.00	8238.00	do	do
29	Ashish	Mandu ram	Sc	B.A I	1564110025	PMS	300	10	3000.00	0.00	3000.00	5838.00	8838.00	do	do
30	Pawan	Santram	Sc	B.A I	1564110062	PMS	300	9	2700.00	0.00	2700.00	5598.00	8298.00	do	do
31	Sandeep	Umed singh	Sc	B.A I	1564110028	PMS	300	10	3000.00	0.00	3000.00	5598.00	8598.00	do	do
32	Sompal	Sh mange ram	Se	B.A I	1564110063	PMS	300	9	2700.00	0.00	2700.00	5598.00	8298.00	do	do
33	Monika	Phool singh	Sc	B.A I	1564120027	PMS	300	10	3000.00	0.00	3000.00	5238.00	8238.00	do	do
34	Babli .	Joginder	Sc	B.A I	1564120046	PMS	300	10	3000.00	0.00	3000.00	5478.00	8478.00	do	do
35	Mosam rani	Satpal	Sc	B.A I	1564120081	PMS	300	9	2700.00	0.00	2700.00	5238.00	7938.00	do	do
36	Babita	Balbir	Sc	B.A I	1564120062	PMS	300	9	2700.00	0.00	2700.00	5238.00	7938.00	do	do
37	Jyoti	Pawan	Sc	B.A I	1564120053	PMS	300	9	2700.00	0.00	2700.00	5238.00	7938.00	do	do
38	Mohini	Ashok	Se	B.A I	1564120068	PMS	300	9	2700.00	0.00	2700.00	5238.00	7938.00	do	do
39	Ravina	Ashok	Sc	B.A I	1564120069	PMS	300	9	2700.00	0.00	2700.00	5238.00	7938.00	do	do
10	Santosh	Rajkumar	Sc	B.A I	1564120040	PMS	300	10	3000.00	0.00	3000.00	5238.00	8238.00	do	do
1	Pooja rani	Karambir	Sc	B.A I	1564120012	PMS	300	10	3000.00	0.00	3000.00	5478.00	8478.00	do	do
12	Savita	Mehender singh	Sc	B.A I	1564120037	PMS	300	10	3000.00	0.00	3000.00	5238.00	8238.00	do	do
3	Jyoti	Surender kumar	Sc	B.A I	1564120058	PMS	300	9	2700.00	0.00	2700.00	5238.00	7938.00	do	do
4	Luxmi devi	Dharambir	Sc	B.A I	1564120031	PMS	300	10	3000.00	0.00	3000.00	5478.00	8478.00	do	do
5	Praveen kumar	Rohtas	Sc	B.A I	1564110060	PMS	300	9	2700.00	0.00	2700.00	5598.00	8298.00	do	do
6	Neeraj	Ramial	Sc	B.A I	1564110065	PMS	300	9	2700.00	0.00	2700.00	5838.00	8538.00	do T	TECTED
7	Dinesh	Ram kunwar	Sc	B.A I	1564110057	PMS	300	9	2700.00 *	0.00	2700.00	5838.00	8538.00	43.1	TESTED
8	Mukesh kumar	Ishwar singh	Se	B.A 1	1564110031	PMS	300	9	2700.00	0.00	2700.00	5598.00	8298.00	do	Meller

49	Vinod	Sushil	BC	B.A I	1564110026	PMS	210.00	10	2100.00	0.00	0.00	10.00	2100.00	do	do
50	Vikash	Suresh kumar	BC	B.A I	1564110010	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
51	Shivani	Preetam	BC	B.A I	1564120016	PMS	210.00	10	2100.00			0.00	2100.00	do	do
52	Yogesh	Omparkash	BC	B.A I	1564110007	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
53	Reena	Rammehar	BC	B.A I	1564120013	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
54	Payal rani	Shri bhagwan	BC	B.A I	1564120024	PMS	210.00	10	2100.00	0.00	0.00		2100.00	do	do
5	Anisha	Rampal	BC	B.A I	1564120017	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
6	Reena	Udey singh	. BC	B.A I	1564120064	PMS	210.00	9	1890.00	0.00	0.00		1890.00	do	do
7	Nirmal	Sunil kumar	BC	B.A I	1564110012	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
8	Archna	Vinod	BC	B.A I	1564120055	PMS	210.00	9	1890.00	10.100		0.00	1890.00	do	do
9	Minakshi	Diwan	BC	B.A I	1564120047	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
50	Manju	Azad singh	BC	B.A I	1564120073	PMS	210.00	9	1890.00	0.00	0.00	0.00	1890.00	do	do
1	Pooja	Surender kumar	BC	B.A I	1564120090	PMS	1	9	1890.00	0.00	0.00	0.00	1890.00	do	do
2	Shubham	Mainpal	BC	B.A I	1564110004	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
3	Preeti	Subash	BC	B.A I	1564120086	PMS	210.00	9	1890.00	0.00	0.00	0.00	1890.00	do	do
4	Rakhi	Rajesh	BC	B.A I	1564120083	PMS	210.00	9	1890.00	0.00	0.00	0.00	1890.00	do	do
5	Neelam	Jeet ram	BC	B.A I	1564120057	PMS	210.00	9	1890.00	0.00	0.00	0.00	1890.00	do	do
6	Sheetal	Suresh kumar	BC	B.A I	1564120015	PMS	210	10	2100.00	0.00	0.00	0.00	2100.00	do	do
7	Madhu	Bhopal singh	BC	B.A I	1564120014	PMS	210.00	10	2100.00	0.00	0.00	100000	2100.00	do	do
8	Monika	Jagdish	BC	B.A I	626	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
9	Komal	- Hawa singh	Sc	B.A II	902	PMS	300	12	3600.00	0.00 2318.00	0.00 5918.00	0.00 1500.00	7418.00	do	do
0	Savita	Rajbir	Sc	B.A II	905	PMS		12	3600.00	2318.00	5918.00	1500.00	7418.00	do	do
1	Rajni	Raj kumar	Sc	B.A II	906	PMS	300	12	3600.00	2078.00	5678.00	1500.00	7178.00	do	do
2	Mamta	Dilbag	Sc	B.A II	909	PMS	300	12	3600.00	2078.00	5678,00	1500.00	7178.00	do	do
3	Rohit	Gangaram	Sc	B.A II	911	PMS	300	12	3600.00	2318.00	5918.00	1860.00	7778.00	do	do
,	Shiv kumar	Dariya	Sc	B.A II	927	PMS		12	3600.00	2078.00	5678.00	1860.00	7538.00	do	do
5	Nidhi	Ram niwas	Sc	B.A II	931	70,00000		12	3600.00	2318.00	5918.00	1500.00	7418.00	do	do
,	Sapna	Rohtas	Sc	B.A II	936	PMS		12	3600,00	2318.00	5918.00	1500.00	7418.00	do	do
7	Ajay	Narsingh bhagwan	Sc	B.A II	947	PMS		12	3600.00	2318.00	5918.00	1860.00	7778.00		220
3	Kavita	Suresh kumar	Sc	B.A II	948	PMS		12	3600.00	2318.00	5918.00	1500.00	7418.00	do	TTESTED

79	Chanchal	Har bhagwan	Sc	B.A II	962	PMS	300	12	3600.00	2078.00	5678.00	1500.00	7178.90	do	do
80	Jyoti	Ishwar singh	Sc	B.A II	966	PMS	300	12	3600.00	2618.00	6218.00	1500.00	7718.00	do	do
81	Jyoti	Brahma nand	Sc	B.A II	974	PMS	300	12	3600.00	2318.00	5918.00	1500.00	7418.00	do	do
82	Ritu	Dayakishan	Sc	B.A II	986	PMS	300	12	3600.00	2078.00	5678.00	1500.00	7178.00	do	do
83	Priyanka	Ramphal singh	Sc	B.A II	987	PMS	300	12	3600.00	2918.00	6518.00	1500.00	8018.00	do	do
84	Pooja	Rajesh	Sc	B.A II	992	PMS	300	12	3600.00	2558.00	6158.00	1500.00	7658.00	do	do
85	Narpender	Sunder singh	Sc	B.A II	997	PMS	300	12	3600.00	2318.00	5918.00	1860.00	7778.00	do	do
86	Rinku	Ram kishan	Sc	B.A II	998	PMS	300	12	3600.00	2318.00	5918.00	1860.00	7778.00	do	do
87	Kiran	Jai narayan	Sc	B.A II	999	PMS	300	12	3600.00	2078.00	5678.00	1500.00	7178.00	do	do
88	Anu	Dayanand	Sc	B.A II	1004	PMS	300	12	3600.00	2318.00	5918.00	1500.00	7418.00	do	do
89	Uma shankar	Preetam	Sc	B.A II	1011	PMS	300	12	3600.00	2558.00	6158.00	1860.00	8018.00	do	do
90	Poonam	Nasib singh	Sc	B.A II	1013	PMS	300	12	3600.00	2078.00	5678.00	1500.00	7178.00	do	do
91	Akshay kumar	Kuldeep singh	Sc	B.A II	1014	PMS	300	12	3600.00	2078.00	5678.00	1860.00	7538.00	do	do
92	Naveen	Wazir singh	Sc	B.A II	1015	PMS	300	12	3600.00	2078.00	5678.00	1860.00	7538.00	do	do
93	Vikas kumar	Rajender	Sc	B.A II	1017	PMS	300	12	3600.00	2318.00	5918.00	1860.00	7778.00	do	do
94	Rajesh	Raj kumar	Sc	B.A II	1018	PMS	300	12	3600.00	2318.00	5918.00	1860.00	7778.00	do	do -
95	Arjun	Veer singh	Sc	B.A II	1019	PMS	300	12	3600.00	2318.00	5918.00	1860.00	7778.00	do	do
96	Deepak	Dharam pal	Sc	B.A II	1020	PMS	300	12	3600.00	2318.00	5918.00	1860.00	7778.00	do	do
97	Vishal	Surender	Sc	B.A II	1023	PMS	300	12	3600.00	2318.00	5918.00	1860.00	7778.00	do	do
98	Ritu	Surajbhan	Sc	B.A II	1031	PMS	300	12	3600.00	2318.00	5918.00	1500.00	7418.00	do	do
99	Vinit	Pawan kumar	BC	B.A II	917	PMS	210	10	2100.00	0.00	90.00	0.00	2190.00	do	do
100	Amit	Rajpal	BC	B.A II	930	PMS	210	10	2100.00	0.00	90.00	0.00	2190.00	do	do
101	Sanjeev kumar	Ram sanehi	BC	B.A II	941	PMS	210	12	2520.00	0.00	90.00	0.00	2610.00	do	do
102	Jyoti rani	Satish kumar	BC	B.A II	943	PMS	210	12	2520.00	0.00	0.00	0.00	2520.00	do	do
103	Manju	Sukhbir	BC	B.A II	955	PMS	210	12	2520.00	0.00	0.00	0.00	2520.00	do	do
104	Varsha	Ramphal	BC	B.A II	1005	PMS	210	12	2520.00	0.00	0.00	0.00	2520.00	do	do
105	Neetu	Rahhy shyam	Sc	B.A III	814	PMS	300	12	3600.00	2178.00	5778.00	1500.00	7278.00	do	do
106	Jyoti	Azad singh	Sc	B.A III	815	PMS	300	12	3600.00	2418.00	6018.00	1500.00	7518.00	*T	TECTED
107	Naveen	Arjun singh	Sc	B.A III	822	PMS	300	12	3600.00	2418.00	6018.00	1860.00	7878.00	-do -	TESTED
08	Nisha	Dharmbir	Sc	B.A III	833	PMS	300	12	3600.00	2418.00	6018.00	1500.00	7518.00	do	Medel

Principal Sat Jinda Kalyana College Kalanaur (Rohtak) Haryana

4/6

09	Seema	Satbir	Sc	B.A III	841	PMS	300	12	3600.00	2178.00	5778.00	1500.00	7278.00	do	do
10	Ravinder	Charan singh	Sc	B.A III	844	PMS	300	12	3600.00	2178.00	5778.00	1860.00	7638.00	do	do
11	Naveen	Rambhaj	Sc	B.A III	848	PMS	300	12	3600.00	2778.00	6378.00	1860.00	8238.00	do	do
12	Sandeep	Dharam pal	Sc	B.A III	853	PMS	300	12	3600.00	2418.00	6018.00	1860.00	7878.00	do	do
13	Arjun	Rattan singh	Sc	B.A III	865	PMS	300	12	3600.00	3018.00	6618.00	1860.00	8478.00	do	do
14	Pooja	Bharat singh	BC	B.A III	824	PMS	210	10	2100.00	0.00	0.00	0.00	2100.00	do	do
15	Pinki	Surajmal	BC	B.A III	847	PMS	210	12	2520.00	0.00	0.00	0.00	2520.00	do	do
16	Rohit	Surender kumar	BC	B.A III	861	PMS	210	12	2520.00	0.00	90.00	0.00	2610.00	do	do
17	Ravina	Shri bhagwan	BC	B.A III	846	PMS	210	12	2520.00	3918.00	0.00	0.00	6438.00	do	do
18	Asha	Harbhagwan	BC	B.A III	839	PMS	210	12	2520.00	3678.00	0.00	0.00	6198.00	do	do
19	Komal	Jai bhagwan	Sc	B.Com-I	1564220017	PMS	300	9	2700.00	0.00	2700.00	5298.00	7998.00	do	do
20	Naveen	Shiv kumar	Sc	B.Com-I	1564210014	PMS	300	8	2400.00	0.00	2400.00	5658.00	8058.00	do	do
21	Geeta	Arjun	Sc	B.Com-I	1564220003	PMS	300	10	3000.00	0.00	3000.00	5298.00	8298.00	do	do
22	Pushpak	Phool singh	Sc	B.Com-I	1564210013	PMS	300	8	2400.00	0.00	2400.00	5658.00	8058.00	do	, do
23	Santosh	Ajit singh	Sc	B.Com-I	1564220006	PMS	300	10	3000.00	0.00	3000.00	5298.00	8298.00	do	do
24	Rohit .	Arjun	Sc	B.Com-I	1564210006	PMS	300	10	3000.00	0.00	3000.00	5658.00	8658.00	do	do
25	Sidhant	Bijender	BC	B.Com-I	1564210015	PMS	210.00	8	1680.00	0.00	0.00	0.00	1680.00	do	do
26	Anjali	Satyawan	BC	B.Com-I	1564220026	PMS	210.00	8	1680.00	0.00	- 0.00	0.00	1680.00	do	do
27	Sonia	Dinesh	BC	B.Com-I	1564220019	PMS	210.00	9	1890.00	0.00	0.00	0.00	1890.00	do	do
28	Deeksha	Baljeet	Sc	B.Com-II	302	PMS	300	12	3600.00	2138.00	5738.00	1500.00	7238.00	do	do
29	Jyoti	Dharam singh	Sc	B.Com-II	303	PMS	300	12	3600.00	2138.00	5738.00	1500.00	7238.00	do	do
30	Aarti rani	Kharati lal	Sc	B.Com-II	313	PMS	300	12	3600.00	2138.00	5738.00	1500.00	7238.00	do	do
31	Meenakshi	Jai kanwar	Sc	B.Com-II	318	PMS	300	12	3600.00	2138.00	5738.00	1500.00	7238.00	do	do
32	Nisha	Satpal singh	Se	B.Com-II	322	PMS	300	12	3600.00	2138.00	5738.00	1500.00	7238.00	do	do
33	Sonu	Ajit singh	Sc	B.Com-II	339	PMS	300	12	3600.00	2138.00	5738.00	1860.00	7598.00	do	do
34	Sushita	Ved parkash	Sc	B.Com-II	341	PMS	300	12	3600.00	2138.00	5738.00	1500.00	7238.00	do	do
15	Monika	Sher singh	BC	B.Com-II	323	PMS	210	12	2520.00	0.00	0.00	0.00	2520.00	do	TECHED
6	Vandna	Dinesh kumar	BC	B.Com-II	340	PMS :	210	12	2520.00	3638.00	0.00	0.00	6158.00	AT	TESTED
7	Manisha	Harbhagwan	Sc	B.Com-	511	PMS	300	12	3600.00	2238.00	5838.00	1500.00	7338.00	do	don 8
8	Seema	Jile singh	Sc	B.Com-	512	PMS :	300	12	3600.00	2238.00	5838.00	1500.00	7338.00	do	No day

39	- Kavita	Satish kumar	Sc	B.Com-	514	PMS	300	12	3600,00	2238.00	5838.00	1500.00	7338.00	do	. do
40	Sangeeta	Joginder singh	Sa	B.Com-	515	PMS	300	12	3600.00	2238,00	5838.00	1500.00	7338.00	do	do
11	Pooja	Ramanand	Sc	B.Com-	523	PMS	300	12	3600.00	2238.00	5838.00	1500.00	7338.00	do	do
12	Hardevi	Ramdhari	BC	B.Com-II	510	PMS	210	12	2520.00	0.00	0.00	0.00	2520.00	do	do
13	Preeti	Ram singh	BC	B.Com-II	536	PMS	210	12	2520.00	0.00	0.00	0.00	2520.00	do	do
14	Pooja	Dinesh	BC	B.Com-II	528	PMS	210	12	2520.00	3738.00	0.00	0.00	6258.00	do	do
45	Jyoti	Krishan lal	Sc	BCA-I	1564320001	PMS	300	10	3000.00	0.00	3000.00	14154.00	17154.00	do	do
733		Bijender singh	Sc	BCA-I	1564320004	PMS	300	9	2700.00	0.00	2700.00	14154.00	16854.00	do	do
16	Neetu	Ashok	BC	BCA-I	1564310004	PMS	210.00	8	1680.00	0.00	0.00	0.00	1680.00	do	do

971110.00

Checked & Verfied

Member

Sualing

Nodal Officer

Principal

ATTESTED

SAT JINDA KALYANA COLLEGE, KALANAUR

Award Roll for Post Matric Scholarship for SC/B.C. Students for the Academic Year 2018-19

Sr. No.	Student Name	Father Name	Catoga	Class	Roll No.	Name of Scheme	Mainta nce Rate	Maintance Month	Total Maintance	Fee/Fund Paid By Students	Scholarship Amount to the students	Non refundable Fee/funds	Total Amount of Scholarship	Mode of Reciept	Date of Reciept of All five years
						Post Matric Scholarship Scheme					9			Direct Benefit Transfer (DBT) in Bank A/c of Student	Since DBT is done and students do not share the date with the college so that the date of reciept is not available
1	Amit	Sh. Haripal	SC	B.A. I	1801251		300.00	10	3000.00	6353.00	9353.00	0.00	9353.00		
2	Monia	Sh.Nand Kishore	SC	B.A. I	1801238	PMS	300.00	10	3000.00	5753.00	8753.00	0.00	8753.00	do	do
3	Navrattan	Sh. Bhule Ram	SC	B.A. I	1801235	PMS	300.00	10	3000.00	6113.00	9113.00	0.00	9113.00	do	do
4	Preeti	Sh.Bansi Lal	sc	B.A. I	1801233	PMS	300.00	10	3000.00	5753.00	8753.00	0.00	8753.00	do	do
5	Nisha	Sh.Ramesh Chander	SC	B.A. I	1801231	PMS	300.00	10	3000.00	5753.00	8753.00	0.00	8753.00	do	do -
6	Нарру	Sh.Karan Singh	sc	B.A. I	1801230	PMS	300.00	10	3000.00	5873.00	8873.00	0.00	8873.00	do	do
7	Sheetal	Sh.Chatar Singh	SC	B.A. I	1801223	PMS	300.00	10	3000.00	5753.00	1	0.00	8753.00	do	do
8	Shri Krishan	Sh.Jai Singh	SC	B.A. I	1801222	PMS	300.00		3000.00	6113.00		-	9113.00	do	do
9	Deepak	Sh.Surender	sc	B.A. I	1801221	PMS	300.00	10	3000.00	6113.00		0.00	9113.00	do	do
10	Vivek	Sh.Roop Singh	sc	B.A. I	1801219	PMS	300.00		3000.00	6113.00	1	0.00	9113.00	do	do
11	Aman Kumar	Sh.Naresh Kumari	SC	B.A. I	1801217	PMS	300.00		3000.00	6113.00		0.00	9113.00	do	do
12	Gourav	Sh.Naresh	SC	B.A. I	1801214	PMS	300.00		3000.00	6113.00		0.00	9113.00	do	do
13	Rohit	Sh.Dharambir	SC	B.A. I	1801202	PMS	300.00		3000.00	6113.00	100,000,000	0.00	9113.00	do	do
14	Deepak	Sh.Virbhan	SC	B.A. I	1801200	PMS	300.00		3000.00	6113.00	Tours and the same of the same	lancar .	9113.00	do	do
15	Rinku Rani	Sh. Surender Kumar	SC	B.A. I	1801199	PMS	300.00		3000.00	5993.00		0.00	8993.00	Δ ^d TT	ECTED
16	Sarika	Sh.Satbir Singh		B.A. I	1801197	PMS	300.00	65,45	3000.00	5753.00		toras.	8753.00	do	ESTED.
17	Meenakshi	Sh. Omparkash	1 (3)	B.A. I	1801192	PMS	300.00	Jan.	3000.00	5513,00		Service 14	8513.00	do 🔨	4 Quia

Sat Jinda Kalyana College Kalanaur (Rohfal) Haryan

1/7

18	Kavita	Sh.Raj Kumar	SC	B.A. I	1301190	PMS	300.00	10	3000.00	5993.00	8993.00	0.00	8993.00	do	do
19	Usha	Sh. Randhir	SC	B.A. I	1801189	PMS	300.00	10	3000.00	5993.00	8993.00	0.00	8993.00	do	do
20	Madhu	Sh.Om Parkash	SC	B.A. I	1801173	PMS	300.00	10	3000.00	5753.00	8753.00	0.00	8753.00	do	do
21	Nishu Choudhary	Sh. Kashmiri Lal	sc	B.A. I	1801172	PMS	300.00	10	3000.00	5513.00	8513.00	0.00	8513.00	do	do
22	Parmila	Sh.Satyawan	sc	B.A. I	1801161	PMS	300.00	10	3000.00	5753.00	8753.00	0.00	8753.00	do	do
23	Kiran	Sh. Jagdish	sc	B.A. I	1801158	PMS	300.00	10	3000.00	5753.00	8753.00	0.00	8753.00	do	do
24	Jyoti	Sh.Jagdish Lal	sc	B.A. I	1801156	PMS	300.00	10	3000.00	5753.00	8753.00	0.00	8753.00	do	do
25	Vishavjeet	Sh. Sant Lal	sc	B.A. I	1801147	PMS	300.00		3000.00	6113.00	9113.00	0.00	9113.00	do	do
26	Varsha	Sh. Shyam Sunder	sc	B.A. I	1801140	PMS	300.00		3000.00	5513.00	8513.00	0.00	8513.00	do	do
27	Saheni	Sh. Babulal	SC	B.A. I	1801139	PMS	300.00		3000.00	5753.00	8753.00	0.00	8753.00	do	do
28	Pankaj	Sh. Surender Kumar	sc	B.A. I	1801130	PMS	300.00		3000.00	5873.00	8873.00	0.00	8873.00	do	do
29	Renu	Sh.Shyam Lal	SC	B.A. I	1801128	PMS	300.00		3000.00	5513.00	8513.00	0.00	8513.00	do	do
	Priyanka	Sh.Kuldeep	SC	B.A. 1	1801125	PMS	300.00		3000.00	5513.00	8513.00	0.00	8513.00	do	do
	Sagar	Sh.Subash	SC	B.A. I	1801116	PMS	300.00		3000.00	6113.00	9113.00	0.00	9113.00	do	do
	Preeti	Sh.Dharambir	SC	B.A. I	1801110	PMS	300.00		3000.00	5753.00	8753.00	0.00	8753.00	do	do
33	Mamta Devi	Sh.Ram Niwas	sc	B.A. I	1801109	PMS	300.00		3000.00	5513.00	8513.00	0.00	8513.00	do	do
34	Kiran	Sh.Samunder Singh	sc	B.A. I	1801108	PMS	300.00	100	3000.00	5513.00	8513.00	0.00	8513.00	do	do
	Aarti	Sh. Satish	sc	B.A. 1	1801104	PMS	300.00	The last	3000.00	5753.00	8753.00	0.00	8753.00	do	do
36	Nishu	Sh.Suresh Kumar	BC	B.A.I	1801194	PMS	210.00		2100.00	0.00	0.00	0.00	2100.00	do	do
_	Poonam	Sh.Rajpal	BC	B.A.I	1801170	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
38	Seeta Devi	Sh.Dhan Singh	BC	B.A.I	1801171	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
39	Kavita	Sh.Raju	BC	B.A.I	1801150	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
	Kavita	Sh. Ravinder	BC	B.A.I	1801114	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
	Rohit	Sh.Dharmpal	BC	B.A.I	1801149	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
	Anjali	Sh.Subash Chander	BC	B.A.I	1801141	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	TECTE
	Pooja	Sh. Ram Niwas	BC	B.A.I	1801136	PMS	210.00	10	2100.06	0.00	0.00	0.06	2100.00	do	TESTE
-	Ankit	Sh. Ramkishan	BC	B.A.I	1801132	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	14 aus

-	Nitin	Sh. Suresh Kumar	BC	B.A.I	1801148	PMS	210.00	Tio	2100.00	lo oo	lo oo	0.00	2100.00	T de	
45	5									0.00	0.00	0.00	2100.00	do	do
46	Ombir 6	Sh. Rajender	BC	B.A.I	1801146	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
47	7 Rohit	V.P.O. Gudhan	BC	B.A.I	1801208	PMS	210.00	10	2100.00	5873.00	7973.00	0.00	7973.00	do	do
48	Manisha 8	Sh. Prem Singh	BC	B.A.I	1801191	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
49	Varsha	V.P.O. Kalanaur	BC	B.A.I	1801117	PMS	210.00	10	2100.00	5753.00	7853,00	0.00	7853.00	do	do
50	Manoj Kumar	Sh. Shyam Lal	BC	B.A.I	1801102	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
51	Preeti	Sh.Subash	BC	B.A.II	1701323	PMS	210.00	12	2520.00	0.00	0.00	0.00	2520.00	do	do
52	Payal Rani	Sh.Shri bhagwan	BC	B.A.II	1701422	PMS	210.00	12	2520.00	0.00	0.00	0.00	2520.00	do	do
53	Vinod	Sh.Sushil	BC	B.A.II	1701423	PMS	210.00	12	2520.00	0.00	0.00	0.00	2520.00	do	do
54	Luxmi Devi	Sh.Dharambir	SC	B.A.II	1701426	PMS	300.00	12	3600.00	4013.00	7613.00	0.00	7613.00	do	do
55	Sonia	Sh.Kanwal Singh	SC	B.A.II	1701412	PMS	300.00	12	3600.00	4013.00	7613.00	0.00	7613.00	do	do
	Mukesh Kumar	Sh. Ishwar Singh	SC	B.A.II	1701410	PMS	300.00	12	3600.00	4133.00	7733.00	0.00	7733.00	do	do
57	Parveen Kumar	Sh.Rohtas	SC	B.A.II	1701408	PMS	300.00		3600.00	4133.00	7733.00	0.00	7733.00	do	do
58	Nirmala Rani	Sh.Radhey Shyam	SC	B.A.II	1701407	PMS	300.00	12	3600.00	3773.00	7373.00	0.00	7373.00	do	do
59	Taruna Rani	Sh. Raj Kumar	SC	B.A.II	1701406	PMS		10	3000.00	3773.00	6773.00	0.00	6773.00	do	do
60	Amit	Sh.Fakir Chand	SC	B.A.II	1701398	PMS	300.00		3600.00	4373.00	7973.00	0.00	7973.00	do	do
61	Savita	Sh. Mahender Singh	sc	B.A.II	1701391	PMS	300.00		3600.00	3773.00	7373.00	0.00	7373.00	do	do
62	Rahul	Sh.Krishan Lal	SC	B.A.II	1701390	PMS	300.00	0.00	3600.00	4613.00	8213.00	0.00	8213.00	do	do
	Ashok Kumar	Sh.Ram Kunwar	SC	B.A.II	1701388	PMS	300.00		3600.00	4613.00	8213.00	0.00	8213.00	do	do
	Mosam Rani	Sh.Satpal	SC	B.A.II	1701381	PMS	300.00	224	3600.00	4613.00	8213.00	0.00	8213.00	do	do
-	Shivani	Sh. Preetam	BC	B.A.II	1701380	PMS	210.00		2520.00	0.00	0.00	0.00	2520.00	do	do
66	Jyoti	Sh. Surender Kumar	SC	B.A.II	1701379	PMS	300.00	12	3600.00	4373.00	7973.00	0.00	7973.00	do	do
	Ravina	Sh.Dariya Singh	SC	B.A.II	1701377	PMS	300.00		3600.00	4373.00	7973.00	0.00	7973.00	do	do
100	Sushma	Sh.Satyawan	sc	B.A.II	1701371	PMS	300.00		3600.00	4013.00	7613.00	0.00	7613.00	do	do
- 3	Sompal	Sh.Mange Ram	SC	B.A.II	1701363	PMS	300.00		3600.00	4133.00	7733.00	0.00	7733.00	do	do
	Suman	Sh. Trilok Chand	SC	B.A.II	1701357	PMS	300.00	-	3600.00	3773.00	7373.00	0.00	7373.00	Ador	E Cade
-	Sudhir	Sh.Sataywan	SC	B.A.II	1701352	PMS	300.00	***	3600.00	4133.00	7733.00	0.00	7733.00	do	u gust

72	Sunil	Sh. Suresh Kumar	SC	B.A.II	1701350	PMS	300.00	12	3600.00	4133.00	7733.00	0.00	7733.00	do	do
73	Surender Kumar	Sh.Rameshwar Singh	SC	B.A.II	1701349	PMS	300.00	1	3600.00	4373.00	7973.00	0.00	7973.00	do	do
74	Jaipal	Sh.Chand Ram	sc	B.A.II	1701348	PMS	300,00		3600.00	4133,00	7733.00	0.00	7733.00	do	do
75	Varsha	Sh.Inder Singh	sc	B.A.II	1701347	PMS	-		3600.00	4613.00	8213.00	0.00	8213.00	do	do
76	Rishi	Sh.Ranbir	SC	В.А.П	1701345	PMS	300.00	12	3600.00	4733.00	8333.00	0.00	8333.00	do	do
77	Akash	Sh.Jile Singh	sc	B.A.II	1701338	PMS	300.00	12	3600.00	4613.00	8213.00	0.00	8213.00	do	do
78	Sandeep	Karampal SC	sc	B.A.II	1701336	PMS	300	12	3600.00	4373.00	7973.00	0.00	7973.00	do	do
79	Monika	Sh.Phool Singh	SC	B.A.II	1701329	PMS	300.00	12	3600.00	4373.00	7973.00	0.00	7973.00	do	do
80	Kiran	Sh.Jaikaran	sc	B.A.II	1701322	PMS	300.00	12	3600.00	4013.00	7613.00	0.00	7613.00	do	do
81	Babli	Sh.Joginder	sc	B.A.II	1701320	PMS	300.00	12	3600.00	4013.00	7613.00	0.00	7613.00	do	do
82	Pooja Rani	Sh.Karambir	sc	B.A.II	1701319	PMS	300.00		3600.00	4013.00	7613.00	0.00	7613.00	do	do
83	Surender Kumar	Sh. Bahadur Singh	SC	B.A.II	1701316	PMS	300.00	12	3600.00	4373.00	7973.00	0.00	7973.00	do	do
84	Sumit	Sh. Maha Singh	sc	B.A.II	1701314	PMS	300.00	12	3600.00	4373.00	7973.00	0.00	7973.00	do	do
85	Mohini	Sh.Ashok	sc	B.A.II	1701313	PMS	300.00	12	3600.00	4013.00	7613.00	0.00	7613.00	do	do
86	Ravina	Sh.Ashok	sc	B.A.II	1701311	PMS	300.00	12	3600.00	4013.00	7613.00	0.00	7613.00	do	do
87	Hitler	Sh. Ravinder Kumar	sc	B.A.II	1701308	PMS	300.00		3600.00	4613.00	8213.00	0.00	8213.00	do	do
88 5	Sagar	Sh. Manoj	sc	B.A.II	1701306	PMS	300.00	12	3600.00	4493.00	8093.00	0.00	8093.00	do	do
89	Ashish	Sh. Mandu Ram	sc	B.A.II	1701304	PMS	300.00	12	3600.00	4373.00	7973.00	0.00	7973.00	do	do
90	Vedvanti	Sh. Bhoop Singh	BC	B.A.III	1601662	PMS	210.00	10	2100.00	0.00	2100.00	0.00	2100.00	do	- do
91	Varsha	Sh. Ramphal	BC	B.A.III	1601705	PMS	210.00	12	2520.00	0.00	2520.00	0.00	2520.00	do	do
92 /	Akshay Kumar	Sh. Kuldeep Singh	sc	B.A.III	1601704	PMS	300.00	12	3600.00	4333.00	7933.00	0.00	7933,00	do	do
93 N	Narpender	Sh.sunder Singh	SC	B.A.III	1601702	PMS	300.00	12	3600.00	4573.00	8173.00	0.00	8173.00	do	do
94 F	Poonam	Sh.Naseeb Singh	SC	B.A.III	1601700	PMS	300.00	12	3600.00	3973.00	7573.00	0.00	7573,00	do	do
95 E	Deepak	Sh. Dharampal	sc	B.A.III	1601698	PMS		12	3600.00	4573.00	8173.00	0.00	8173.00	do	do
96 N	Nidhi	Sh.Ram Niwas	sc	B.A.III	1601693	PMS	300.00		3600.00	4213.00	7813.00	0.00	7813.00	do	TTESTE
97 R	litu .	Sh.Daya Kishan	SC	B.A.III	1601689	PMS	1	12	3600.00	3973.00	7573.00	0.00	7573.00	do	do o
98 S	Sahiba	Sh.Chaman Lal	SC	B.A.III	1601685	PMS	300.00	and a	3000.00	4453.00	7453.00	0.00	7453.00	do	Meson

99	Ajay	Sh. Narsingh Bhagwan	SC	B.A.III	1601681	PMS	300.00	12	3600.00	4573.00	8173.00	0.00	8173.00	do	do
100	Priyanka	Sh.Ramphal Singh	SC	в.а.ш	1601677	PMS	300.00	1	3600.00	4813.00	8413.00	0.00	8413.00	do	do ·
101	Mamta	Sh.Dilbag	sc	B.A.III	1601669	PMS	300.00	12	3600.00	3973.00	7573.00	0.00	7573.00	do	do
102	Jyoti	Sh. Ishwar Singh	SC	B.A.III	1601666	PMS	300.00	12	3600.00	4213.00	7813.00	0.00	7813.00	do	do
103	Manju	V.P.O. Basana	BC	B.A.III	1601663	PMS	210.00	12	2520.00	4213.00	6733.00	0.00	6733.00	do	do
104	Shiv Kumar	Sh. Dariya	sc	B.A.III	1601658	PMS	300.00	12	3600.00	4333.00	7933.00	0.00	7933.00	do	do
105	Rajni	Sh. Raj Kumar	SC	B.A.III	1601655	PMS	300.00	12	3600.00	3973.00	7573.00	0.00	7573.00	do	do
106	Rinku	Sh.Ram Kishan	SC	B.A.III	1601651	PMS	300.00	12	3600.00	4573.00	8173.00	0.00	8173.00	do	do
107	Sapna	Sh.Rohtas	SC	B.A.III	1601650	PMS	300.00		3600.00	4213.00	7813.00	0.00	7813.00	do	do
108	Rohit	Sh. Ganga Ram	SC	в.а.ш	1601640	PMS	300.00		3600.00	4573.00	8173.00	0.00	8173.00	do	do
109	Kiran	Sh. Jai naryan	SC	в.а.ш	1601638	PMS	Construction of	12	3600.00	3973.00	7573.00	0.00	7573.00	do	do
110	Chanchal	Sh.Harbhagwan	SC	B.A.III	1601637	PMS		12	3600.00	3973.00	7573.00	0.00	7573.00	do	do
111	Kavita	Sh. Suresh Kumar	SC	B.A.III	1601636	PMS		12	3600.00	4213.00	7813.00	0.00	7813.00	do	do
112	Jyoti	Sh.Brahmanand	SC	B.A.III	1601634	PMS		12	3600.00	4213.00	7813.00	0.00	7813.00	do	do
113	Vishal	Sh.Surender	SC	B.A.III	1601631	PMS	100000	12	3600.00	4573.00	8173.00	0.00	8173.00	do	do
114	Naveen	Sh. Wazir Singh	SC	B.A.III	1601630	PMS	300.00	12	3600.00	4333.00	7933.00	0.00	7933.00	do	do
115	Savita	Sh.Rajbir	SC	B.A.III	1601615	PMS		12	3600.00	4213.00	7813.00	0.00	7813.00	do	do
116	Komal	Sh. Hawa Singh	SC	B.A.III	1601610	PMS	-	12	3600.00	4213.00	7813.00	0.00	7813.00	do	. do
117	Yashveer	Sh.Ramphal	SC	B.C.A.I	1804211	PMS		9	2700.00	14933.00	17633.00	0.00	17633.00	do	do
118	Manju	Sh.Dalbir	SC	B.C.A.I	1804205	PMS	300.00		2700.00	14453.00	17153.00	0.00	17153.00	do	do
119	Manoj	Sh.Shribhagwan	SC	B.C.A.I	1804202	PMS	300,00	10	3000.00	14933.00	17933.00	0.00	17933.00	do	do
120	Parveen	Sh.Ompakash	SC	B.C.A.I	1804201	PMS		10	3000.00	14933.00	17933.00	0.00	17933.00	do	do
121	Jyoti	Sh. Krishan Lal	SC	B.C.A.II		PMS	300.00		3600.00	13613.00	17213.00	0.00	17213.00	do	do
122	Neetu	Sh. Bijender Singh	SC	B.C.A.II		PMS	300.00		3600.00	2215.00	5815.00	11398.00	17213.00	do	do
123	Nitin	Sh.Pardeep Kumar	SC	B.Com I		PMS	300.00		2700.00	5993.00	8693.00	0.00	8693.00	do	do
_	Rahul		SC		1802450	PMS	300.00		2700.00	5993.00	8693.00	0.00	8693.00	do A	TTESTE
125 1	Kiran	Sh.Dharambir	SC	B.Com I		PMS	300.00	6	2700.00	5633.00	8333.00	0.00	8333.00	do	regul

Principal 5 7 Sat Jinda Kalyana College Kalanaur (Rohtak) Haryana

_	Rahul	Sh.Rajender	BC	B.Com.II	1702531	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	NUGU
151	Preeti	Sh.Subash	BC	B.Com.I	1802443	PMS	210.00	9	1890.00	0.00	0.00	0.00	1890.00		TESTE
150	Pinki	Sh.Naresh Kumar	BC	B.Com.l	1802412	PMS	210,00		2100.00	0.00	0.00	0.00	2100.00	do	do
149	Komal	Sh.Narenderpal	BC	B.Com.I	1802429	PMS	210.00		2100.00	0.00	0.00	0.00	2100.00	do	do
148	Komal	Sh. Bijender Singh	BC	B.Com.I	1802445	PMS	210.00		1890.00	0.00	0.00	0.00	100000000	348	
147	Deeksha	Sh. Baljit Singh	SC	111	1602904	PMS	300.00		3600.00	4093.00	7693.00	0.00	7693.00 1890.00	do	do
146	Aarti Rani	Sh.Kharati Lal	SC	III B.Com	1602909		300.00	12	3600.00	4093.00	7693.00	0.00	7693.00	do	do
145	Sushita	Sh.Ved Parkash	SC	III B.Com	1602927	PMS	300.00		3600.00	4093.00	7693.00	0.00	7693.00	do	do
144	Nisha	Sh. Satpal Singh	SC	B.Com	1602928	PMS	300.00		3600.00	4093.00	7693.00	0.00	7693.00	do	do
143	Security			B!com		PMS	000000000000000000000000000000000000000	1000				0.00	7002.00	do	do
142	Rekha	Sh.Ramesh	BC	B.Com	1602934	PMS	210.00	10	2100.00	0.00	2100.00	0.00	2100.00	do	do
Taring	Jyoti Vandana	Sh. Dharam Singh V.P.O. Kalanaur	SC BC	III B.Com	1602939 1602936	PMS	210.00		2520.00	4093.00	6613.00	0.00	6613.00	do	do
	Sonu			III B.Com		PMS	300.00		3600.00	4093.00	7693.00	0.00	7693.00	do	do
		Sh. Ajit Singh	SC	B.Com	1602942	PMS	300.00	-	3600.00	4453.00	8053.00	0.00	8053.00	do	do
-	Naveen	Sh.Shiv Kumar	SC	B.Com II		PMS	300.00		3600.00	4253.00	7853.00	0.00	7853.00	do	do
	Santosh	Sh.Aijt Singh	SC	B.Com II		PMS	300.00	-	3600.00	3893.00	7493.00	0.00	7493.00	do	do
-	Geeta	Sh.Arjun	SC	B.Com II	-	PMS	300.00	12	3600.00	3893.00	7493.00	0.00	7493.00	do	do
-	Komal	Sh. Jai Bhagwan	SC	B,Com II	1702527	PMS	300.00	12	3600.00	3893.00	7493.00	0.00	7493.00	do	do
135	Aniali	Sh.Satywan	BC	B.Com II	1702512	PMS	210.00	12	2520.00	0.00	2520.00	0.00	2520.00	do	do
134	Annu	Sh.Ranbir	SC	B.Com I	1802406	PMS	300.00	10	3000.00	5633.00	8633.00	0.00	8633.00	do	do
133	Muskan	Sh.Bansi Lal	SC	B.Com I	1802410	PMS	300.00	10	3000.00	5633.00	8633.00	0.00	8633.00	do	do
132	Santosh	Sh. Zile Singh	SC	B.Com I	1802411	PMS	300.00	10	3000.00	5633.00	8633.00	0.00	8633.00	do	do
131	Amit	Sh.Suresh Kumar	SC	B.Com I	1802416	PMS	300.00	10	3000.00	5993.00	8993.00	0.00	8993.00	do	
130	Reetu	Sh.Suresh	SC	B.Com I	1802417	PMS	300,00	10	3000.00	5633.00	8633.00	0.00	8633.00	do	do
129	Divya	Sh. Rajesh	SC	B.Com I	1802422	PMS	300.00	10	3000.00	5633.00	8633.00	0.00	8633.00	do	do
128	Kavita	Sh.Madan lal	SC	B.Com I	1802430	PMS	300.00	10	3000.00	5633.00	8633.00	0.00	8633.00	do	do
127	Ashish Kumar	Sh. Sanjay	SC	B.Com I	1802441	PMS	300.00	10	3000.00	5993.00	8993.00	0.00	8993.00	do	do
126	Sumit Kumar	Sh.Rajesh Kumar	SC	B.Com I	1802442	PMS	300.00	9	2700.00	5993.00	8693.00	0.00	8693.00	do	do

Bharti	Sh.Rajesh Kumar	BC	B.Sc.I	1803606	PMS	210.00	10	2100.00	0.00	0.00	0.00	2100.00	do	do
153 -		-		1000/07	PMS	200.00	10	3000.00	15933.00	18933.00	0.00	18933.00	do	do
	Sh. Ram Kishan	SC	B.SC.I	1803607	PMS	300.00	10	3000.00	15755.00	10333.00	-	-	do	do
service recoverance in conception respects 1 15	Sh. Rotash Singh Chauhan	SC	B.SC.I	1803605	2.00	300.00	10	3000.00	15933.00	18933.00	0.00	18933.00 1184284.00		

SAT JINDA KALYANA COLLEGE, KALANAUR (ROHTAK)

	Name of the Students	THE NATIONAL S	Catego		College Rol	Name of	Amount	Mode of Reciept	Date of Reciept of All five years
1	Indu	Sant Ram	General	B.Sc.I	1803602	National ScholarShip		Benefit Transfer (DBT) in Bank A/c of Student	Since DBT is done and students do not share the date with the college so that the date of reciept is not available

2	Mousam	Naresh	General	B.Com. I	1802418	National ScholarShip	10000.00	do	do
	Varsha	Rajesh Kumar	General	B.Com. I	1802408	National ScholarShip	10000.00	do	do

1214284.00

Checked & Verfied

Member

Member

Nodal Officer

Principal

ATTESTED

SAT JINDA KALYANA COLLEGE, KALANAUR

r No	Name of the Student	Father Name	Caste	Class	College Roll No.	Name of Scheme	Maintance Rate	Maintance Month	Total Maintance	Course Fee	Scholarship Amount	Mode of Reciept	Date of Reciept of All five years
	Pushpa	Sh. Krishan Kumar	sc	B.A.I	1901204	Post Matric Scholarship	300.00	10	3000.00	5993.00	8993.00	Direct Benefit Transfer (DBT) in Bank A/c of Student	Since DBT is done and students do not share the date with the college so that the date of reciept is not available
	Kajal	Sh. Sanjay	SC	B.A.I	1901207	PMS	300.00	10	3000.00	5993.00	8993.00	do	do
	Monika	Sh. Rajesh	SC	B.A.I	1901217	PMS	300.00	10	3000.00	5753.00	8753.00	do	do
	Suman	Sh. Raj Kumar	SC	B.A.I	1901219	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
	Varsha	Sh. Satish	sc	B.A.I	1901221	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
Į	Payal	Sh. Sajjan Kumar	sc	B.A.I	1901229	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
	Pooja	Sh. Rohtas	SC	B.A.I	1901231	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
	Kavita	Sh. Pawan Kumar	sc	B.A.I	1901236	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
	Ankit	Sh. Ram Niwas	SC	B.A.I	1901238	PMS -	300.00	10	3000.00	6113.00	9113.00	do	do
ì	Laxmi Rani	Sh. Satbir	sc	B.A.I	1901242	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
Ī	Sumit	Sh. Suresh Kumar	sc	B.A.I	1901246	PMS	300.00	10	3000.00	6353.00	9353.00	do	do
	Manisha Devi	Sh. Ajit Singh	SC	B.A.I	1901247	PMS	300.00	10	3000.00	5993.00	8993.00	do	do
	Anjana	Sh. Prempal	SC	B.A.I	1901250	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
	Sukhwinder	Sh. Sunder Singh	SC	B.A.I	1901257	PMS	300.00	10	3000.00	5873.00	8873.00	do	do
	Sushma	Sh. Ram Chander	SC	B.A.I	1901258	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
	Ravina Kumari	Sh. Suresh Kumar	SC	B.A.I	1901261	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
	Payal	Sh. Prem Kumar	SC	B.A.I	1901263	PMS	300.00	10	3000.00	5513.00	8513.00	AT	CESTE
	Ravinder	Sh. Pala Ram	SC	B.A.I	1901265	PMS	300.00	10	3000.00	5873.00	8873.00	do	Magle
	Nitu	Sh. Subash	SC	B.A.I	1901268	PMS	300.00	10	3000.00	5513.00	8513.00	do	decincia
	Devdutt	Sh. Raj Kumar	SC	B.A.I	1901269	PMS	300.00	10	3000.00	6353.00	9353.00	Sat Janda Ko	lyand _o Colle

21:	Mamta Rani	Sh.Vijender Kumar	ec.	B.A.I	1901271	PMS	300.00	10	3000.00	5513.00	8513.00	4.	do
22			SC	B.A.I	1901271	1	300.00	10	3000.00	6113.00	9113.00	do	
	Parveen	Sh. Harbhaj	72250	10-55-5907	A TROUGHOUSE TWO	PMS		5.51	70.700.000.000	200000000000000000000000000000000000000	9113.00	do	do
23	Vijay Kumar	Sh. Naresh Kumar	SC	B.A.I	1901276	PMS	300.00	10	3000.00	6113.00	100000000000000000000000000000000000000	do	do
24	Narender	Sh. Rajpal	SC	B.A.I	1901277	PMS	300.00	10	3000.00	6353.00	9353.00	do	do
25	Vishnu	Sh. Rajbeer	SC	B.A.I	1901279	PMS	300.00	10	3000.00	5873.00	8873.00	do	do
26	Rahul	Sh. Ram Niwas	SC	B.A.I	1901297	PMS	300.00	10	3000.00	6113.00	9113.00	do	do
27	Aman	Sh. Roop Singh	SC	B.A.I	1901301	PMS	300.00	10	3000.00	5873.00	8873.00	do	do
8	Abhishek	Sh. Dharambir	SC	B.A.I	1901302	PMS	300.00	10	3000.00	5873.00	8873.00	do	do
29	Mohini	Sh. Satpal	SC	B.A.I	1901303	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
0	Babita	Sh. Rajender	SC	B.A.I	1901316	PMS	300.00	10	3000.00	5753.00	8753.00	do	do
31	Parveen	Sh. Omparkash	SC	B.A.I	1901325	PMS	300.00	10	3000.00	6113.00	9113.00	do	do
32	Sahil	Sh. Rajbir Singh	SC	B.A.I	1901326	PMS	300.00	10	3000.00	6113.00	9113.00	do	do
3	Monika	Sh. Rajender	SC	B.A.I	1901328	PMS	300.00	10	3000.00	5753.00	8753.00	do	do
4	Varsha	Sh. Sanjay Kumar	SC -	B.A.I	1901331	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
5	Kavita	Sh. Satbir Singh	SC	B.A.I	1901333	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
6	Pushpa	Sh. Subash	SC	B.A.I	1901337	PMS	300.00	10	3000.00	5513.00	8513.00	do	do
7	Darpen	Sh. Suresh	SC	B.A.I	1901346	PMS	300.00	10	3000.00	5753.00	8753.00	do	do
8	Savita	Sh. Ishwar Singh	SC	B.A.I	1901348	PMS	300.00	10	3000.00	5753.00	8753.00	do	do
9	Deepak	Sh. Rajesh	SC	B.A.I	1901353	PMS	300.00	10	3000.00	6113.00	9113.00	do	do
10	Parveen .	Sh. Omparkash	SC	B.A.I	1901357	PMS	300.00	10	3000.00	6353.00	9353.00	do	do
1	Preeti	Sh. Hawa Singh	SC	B.A.I	1901360	PMS	300.00	10	3000.00	5753.00	8753.00	do	do
2	Anjali	Sh. Suresh Kumar	SC	B.Com.1	1902602	PMS	300.00	10	3000.00	5633.00	8633.00	do	do
3	Virappan	Sh. Suresh Mehra	SC	B.Com.I	1902612	PMS	300.00	10	3000.00	5993.00	8993.00	do	do
4	Chetan	Sh.Padam	sc	B.Com.I	1902613	PMS	300.00	10	3000.00	5993.00	8993.00	do	do
15	Shivani	Sh. Anand Pal	SC	B.Com.I	1902614	PMS	300.00	10	3000.00	5633.00	8633.00	do	do
6	Alka	Sh. Karan Singh	SC	B.Com.I	1902615	PMS	300.00	10	3000.00	5633.00	8633.00	do	do
7	Sanjana	Sh.Om Parkash	SC	B.Com.1	1902619	PMS	300.00	10	3000.00	5633.00	8633.00	doa pro	nn cierr
8	Manoj	Sh. Shri Bhagwan	SC	B.Com.I	1902620	PMS "	300.00	10	3000.00	5993.00	8993.00 -	AI	FESTE
9	Pinki	-	SC	B.Com.I	1902621	PMS	300.00	10	3000.00	5633.00	8633.00	do J	4 Our
0	Deepak Kumar	Sh. Ishwar Singh	SC	B.Com.I	1902632	PMS	300.00	9	2700.00	5993.00	8693.00	do	Propries

									- 91				
51:	Tamanna	Sh. Rameshwar	SC	B.Com.I	1902633	PMS	300.00	9	2700.00	5633.00	8333.00	do	do
52	Aarju	Sh.Mir Singh	SC	B.Com.I	1902634	PMS	300.00	9	2700.00	5633.00	8333.00	do	do
53	Anoop	Sh. Ram Kishan	SC	B.SC.I	1903718	PMS	300.00	8	2400.00	15933.00	18333.00	do	do
54	Ashish	Sh. Mandu Ram	SC	B.A.III	1701304	PMS	300.00	12	3600.00	4573.00	8173.00	do	do
55	Sagar	Sh. Manoj	SC	B.A.III	1701306	PMS	300.00	12	3600.00	4573.00	8173.00	do	do
56	Hitler	Sh. Ravinder	SC	B.A.III	1701308	PMS	300.00	12	3600.00	4813.00	8413.00	do	do
57	Ravina	Sh.Ashok	SC	B.A.III	1701311	PMS	300.00	12	3600.00	4213.00	7813.00	do	do
58	Mohini	Sh.Ashok	SC	B.A.III	1701313	PMS	300.00	12	3600.00	4213.00	7813.00	do	do
59	Sumit	Sh. Maha Singh	SC	B.A.III	1701314	PMS	300.00	12	3600.00	4573.00	8173.00	do	do
60	Surender Kumar	Sh. Bahadur Singh	SC	B.A.III	1701316	PMS	300.00	12	3600.00	4573.00	8173.00	do	do
61	Pooja Rani	Sh.Karambir	SC	B.A.III	1701319	PMS	300.00	12	3600.00	4213.00	7813.00	do	do
62	Babli	Sh.Joginder	SC	B.A.III	1701320	PMS	300.00	12	3600.00	4213.00	7813.00	do	do
63	Kiran	Sh.Jaikaran	SC	B.A.III	1701322	PMS	300.00	12	3600.00	4213.00	7813.00	do	do
64	Monika	Sh.Phool Singh	sc	B.A.III	1701329	PMS	300.00	12	3600.00	4573.00	8173.00	do	do
65	Sandeep	Sh.Karampal	sc	B.A.III	1701336	PMS	300.00	12	3600.00	4573.00	8173.00	do	do
66	Akash	Sh.Jile Singh	SC .	B.A.III	1701338	PMS	300.00	12	3600.00	4813.00	8413.00	do	do
67	Rishi	Sh.Ranbir	sc	B.A.III	1701345	PMS	300.00	12	3600.00	4933.00	8533.00	do	do
68	Varsha	Sh.Inder Singh	SC	B.A.III	1701347	PMS	300.00	12	3600.00	4813.00	8413.00	do	do
69	Jaipal	Sh.Chand Ram	SC	B.A.III	1701348	PMS	300.00	12	3600.00	4333.00	7933.00	do	do
70	Surender Kumar	Sh.Rameshwar	sc	B.A.III	1701349	PMS	300.00	12	3600.00	4573.00	8173.00	do	do
71	Sunil	Sh. Suresh Kumar	SC	B.A.III	1701350	PMS	300.00	12	3600.00	4333.00	7933.00	do	do
72	Sudhir	Sh.Sataywan	SC	B.A.III	1701352	PMS	300.00	12	3600.00	4333.00	7933.00	do	do
73	Suman	Sh. Trilok Chand	SC	B.A.III	1701357	PMS	300.00	12	3600.00	3973.00	7573.00	do	do
74	Santosh	Sh. Raj Kumar	SC	B.A.III	1701360	PMS	300.00	10	3000.00	3973.00	6973.00	do	do
75	Sompal	Sh.Mange Ram	SC	B.A.III	1701363	PMS	300.00	12	3600.00	4333.00	7933.00	do	do
76	Sushma	Sh.Satyawan	SC	B.A.III	1701371	PMS	300.00	12	3600.00	4213.00	7813.00	do	do
77	Ravina	Sh.Dariya Singh	SC	B.A.III	1701377	PMS	300.00	12	3600.00	4573.00	8173.00	do	do
78	Jyoti	Sh. Surender	SC	B.A.III	1701379	PMS	300.00	12	3600.00	4573.00	8173.00	ATT	ESTE
79	Mosam Rani	Sh.Satpal	SC	B.A.III	1701381	PMS	300.00	12	3600.00	4813.00	8413.00	do J	4 Clar
80	Ashok Kumar	Sh.Ram Kunwar	SC	B.A.III	1701388	PMS	300.00	12	3600.00	4813.00	8413.00	do	do

81,	Rahul	Sh.Krishan Lal	SC	B.A.III	1701390	PMS	300.00	12	3600.00	4813.00	8413.00	do	do
82	Savita	Sh. Mahender	SC	B.A.III	1701391	PMS	300.00	12	3600.00	3973.00	7573.00	do	do
83	Taruna Rani	Sh. Raj Kumar	SC	B.A.III	1701406	PMS	300.00	12	3600.00	3973.00	7573.00	do	do
84	Nirmala Rani	Sh.Radhey Shyam	SC	B.A.III	1701407	PMS	300.00	12	3600.00	3973.00	7573.00	do	do
85	Praveen Kumar	Sh.Rohtas	SC	B.A.III	1701408	PMS	300.00	12	3600.00	4333.00	7933.00	do	do
86	Sonia	Sh.Kanwal Singh	SC	B.A.III	1701412	PMS	300.00	12	3600.00	4213.00	7813.00	do	do
87	Luxmi Devi	Sh.Dharambir	SC	B.A.III	1701426	PMS	300.00	12	3600.00	4213.00	7813.00	do	do
88	Naveen	Sh.Shiv Kumar	SC	B.Com.III	1702503	PMS	300.00	12	3600.00	4453.00	8053.00	do	do
89	Santosh	Sh.Ajit Singh	SC	B.Com.III	1702505	PMS	300.00	12	3600.00	4093.00	7693.00	do	do
90	Komal	Sh. Jai Bhagwan	SC	B.Com.III	1702527	PMS	300.00	12	3600.00	4093.00	7693.00	do	do
91	Neetu	Sh. Bijender Singh	SC	B.C.A.III	1704405	PMS	300.00	12	3600.00	13179.00	16779.00	do	do
92	Jyoti	Sh. Krishan Lal	SC	B.C.A.III	1704406	PMS	300.00	12	3600.00	13179.00	16779.00	do	do
93	Aarti	Sh. Satish	SC	B.A.II	1801104	PMS	300.00	12	3600.00	4013.00	7613.00	do	do
94	Mamta Devi	Sh.Ram Niwas	SC	B.A.II	1801109	PMS	300.00	12	3600.00	3773.00	7373.00	do	do
95	Preeti	Sh.Dharambir	SC	B.A.II	1801110	PMS	300.00	12	3600.00	4013.00	7613.00	do	do
96	Sagar	Sh.Subash	SC	В.А.Й	1801116	PMS	300.00	12	3600.00	4373.00	7973.00	do	do
97	Priyanka	Sh.Kuldeep	SC	B.A.II	1801125	PMS	300.00	12	3600.00	4013.00	7613.00	do	do
98	Renu	Sh.Shyam Lal	SC	B.A.II	1801128	PMS	300.00	12	3600.00	3773.00	7373.00	do	do
99	Saheni	Sh. Babulal	SC	B.A.II	1801139	PMS	300.00	12	3600.00	4613.00	8213.00	do	do
100	Varsha	Sh. Shyam Sunder	SC	B.A.II	1801140	PMS	300.00	12	3600.00	3773.00	7373.00	do	do
101	Vishavjeet	Sh. Sant Lal	SC	B.A.II	1801147	PMS	300.00	12	3600.00	4373.00	7973.00	do	do
102	Jyoti	Sh.Jagdish Lal	SC	B.A.II	1801156	PMS	300.00	12	3600.00	4013.00	7613.00	do	do
103	Kiran	Sh. Jagdish	SC	B.A.II	1801158	PMS	300.00	12	3600.00	4013.00	7613.00	do	do
104	Parmila	Sh.Satyawan	SC	B.A.II	1801161	PMS	300.00	12	3600.00	4013.00	7613.00	do	do
105	Nishu Choudhry	Sh. Kashmiri Lal	sc	B.A.II	1801172	PMS	300.00	12	3600.00	3773.00	7373.00	do	do
106	Madhu	Sh.Om Parkash	SC	B.A.II	1801173	PMS	300.00	12	3600.00	4013.00	7613.00	do	do
107	Usha	Sh. Randhir	SC	B.A.II	1801189	PMS	300.00	12	3600.00	4253.00	7853.00	do A	TTEST
108	Meenakshi	Sh. Omparkash	SC	B.A.II	1801192 *	PMS	300.00	12	3600.00	3773.00	7373.00	do	do
109	Sarika	Sh.Satbir Singh	SC	B.A.II	1801197	PMS	300.00	12	3600.00	4013.00	7613.00	do	Mugh
110	Rinku Rani	Sh. Surender	SC	B.A.II	1801199	PMS	300.00	12	3600.00	4253.00	7853.00	do	Principa

11	Deepak	Sh.Virbhan	SC	B.A.II	1801200	PMS	300.00	12	3600.00	4373.00	7973.00	do	do
112	Rohit	Sh.Dharambir	sc	B.A.II	1801202	PMS	300.00	12	3600.00	4373.00	7973.00	do	do
113	Gourav	Sh.Naresh	SC	B.A.II	1801214	PMS	300.00	12	3600.00	4373.00	7973.00	do	do
114	Aman Kumar	Sh.Naresh Kumari	SC	B.A.II	1801217	PMS	300.00	12	3600.00	4973.00	8573.00	do	do
115	Vivek	Sh.Roop Singh	SC	B.A.II	1801219	PMS	300.00	12	3600.00	4373.00	7973.00	do	do
116	Deepak	Sh.Surender	SC	B.A.II	1801221	PMS	300.00	12	3600.00	4373.00	7973.00	do	do
117	Sheetal	Sh.Chatar Singh	SC	B.A.II	1801223	PMS	300.00	12	3600.00	4013.00	7613.00	do	do
118	Нарру	Sh.Karan Singh	SC	B.A.II	1801230	PMS	300.00	12	3600.00	4133.00	7733.00	do	do
119	Nisha	Sh.Ramesh	SC	B.A.II	1801231	PMS	300.00	12	3600.00	4013.00	7613.00	do	do
120	Preeti	Sh.Bansi Lal	SC	B.A.II	1801233	PMS	300.00	12	3600.00	4013.00	7613.00	do	do
121	Monia	Sh.Nand Kishore	sc	B.A.II	1801238	PMS	300.00	12	3600.00	4013.00	7613.00	do	do
122	Amit	Sh. Haripal	SC	B.A.II	1801251	PMS	300.00	12	3600.00	4613.00	8213.00	do	do
123	Muskan	Sh.Bansi Lal	SC	B.Com.II	1802410	PMS	300.00	12	3600.00	3893.00	7493.00	do	do
124	Santosh	Sh. Zile Singh	SC	B.Com.II	1802411	PMS	300.00	12	3600.00	3893.00	7493.00	do	do
125	Amit	Sh.Suresh Kumar	SC	B.Com.II	1802416	PMS	300.00	12	3600.00	4253.00	7853.00	do	do
126	Reetu	Sh.Suresh	SC	B.Com.II	1802417	PMS	300.00	12	3600.00	3893.00	7493.00	do	do
127	Divya	Sh. Rajesh	SC	B.Com.II	1802422	PMS	300.00	12	3600.00	3893.00	7493.00	do	do
128	Kavita	Sh.Madan lal	SC	B.Com.II	1802430	PMS	300.00	12	3600.00	3893.00	7493.00	do	do
129	Ashish Kumar	Sh. Sanjay	SC	B.Com.II	1802441	PMS	300.00	12	3600.00	4253.00	7853.00	do	do
130	Sumit Kumar	Sh.Rajesh Kumar	SC	B.Com.II	1802442	PMS	300.00	12	3600.00	4253.00	7853.00	do -	do
131	Kiran	Sh.Dharambir	SC	B.Com.II	1802449	PMS	300.00	12	3600.00	3893.00	7493.00	do	do
132	Rahul	Sh.Shriniwas	SC	B.Com.II	1802450	PMS	300.00	12	3600.00	4253.00	7853.00	do	do
133	Nitin	Sh.Pardeep Kumar	SC	B.Com.II	1802452	PMS	300.00	12	3600.00	4253.00	7853.00	do	do
134	Deepanshu	Sh. Ram Kishan	SC	B.SC	1803607	PMS	300.00	12	3600.00	14369.00	17969.00	do	do
135	Nisha	Sh. Dharmveer	BC	B.A.I	1901205	PMS	210.00	10	2100.00	0.00	2100.00	do	do
136	Suman	Sh.Dharam Chand	ВС	B.A.I	1901211	PMS	210.00	10	2100.00	0.00	2100.00	da TT	FSTE
137	Monika	Sh. Jai Bhagwan	BC	B.A.I	1901223	PMS	210.00	10	2100.00	0.00	2100.00	do	do
138	Jyoti'	Sh. Sukhbir	вс	B.A.I	1901284	PMS	210.00	10	2100.00	0.00 *	2100.00	do	ESTE I
139	Aarti	Sh.Rajesh	BC	B.A.I	1901339	PMS	210.00	10	2100.00	0.00	2100.00	do	do
140	Geeta	Sh.Ram Kuwar	BC	B.A.I	1901354	PMS	210.00	10	2100:00	0.00	2100.00	da	dyana Colle ohtak) Harya

141	Pooja	Sh. Bahadurmal	BC	B.Com I	1902610	PMS	210.00	10	2100.00	0.00	2100.00	do	do
42	Manju	Sh. Ram Kishan	BC	B.AIII	1801129	PMS	210.00	12	2520.00	0.00	2520.00	do	do
143	Pooja	Sh.Ram Niwas	ВС	B.A.II	1801136	PMS	210.00	12	2520.00	0.00	2520.00	do	do
144	Kavita	Sh. Raju	вс	B.A.II	1801150	PMS	210.00	12	2520.00	0.00	2520.00	do	do
145	Poonam	Sh. Raj Pal	BC	B.A.II	1801170	PMS	210.00	12	2520.00	0.00	2520.00	do	do
146	Manisha	Sh.Prem Singh	вс	B.A.II	1801191	PMS	210.00	12	2520.00	0.00	2520.00	do	do
147	Pooja	Sh.Murari Lal	BC	B.Com II	1802428	PMS	210.00	10	2100.00	0.00	2100.00	do	do
148	Jyoti	Sh. Mukesh Kumar	BC	B.Com II	1802438	PMS	210.00	12	2520.00	0.00	2520.00	do	do
149	Reena	Sh. Udey Singh	вс	B.A.III	1701374	PMS	210.00	12	2520.00	0.00	2520.00	do	do
150	Minakshi	Sh. Diwan	BC	B.A.III	1701376	PMS	210.00	12	2520.00	0.00	2520.00	do	do
151	Reena	Sh. Ram Mehar	BC	B.A.III	1701411	PMS	210.00	12	2520.00	0.00	2520.00	do	do
152	Rakhi	Sh. Rajesh	BC	B.A.III	1701428	PMS	210.00	12	2520.00	0.00	2520.00	do	do
153	Deepak Verma	Sh.Rajender	BC	B.A.I	1901226	PMS	210.00	10	2100.00	0.00	2100.00	do	do
154	Jatin	Sh. Sanjay Kumar	BC	B.A.I	1901275	PMS	210.00	10	2100.00	0.00	2100.00	do	do
155	Vikas	Sh.Dharampal	BC	B.A.I	1901289	PMS	210.00	10	2100.00	0.00	2100.00	do	do
156	Rinku	Sh. Ved Pal	BC	B.A.I	1901295	PMS	210.00	10	2100.00	0.00	2100.00	do	do
157	Parveen Kumar	Sh.Tejram	BC	B.A.I	1901304	PMS	210.00	10	2100.00	0.00	2100.00	do	do
158	Sumit	Sh. Virender	BC	B.Sc. I	1903713	PMS	210.00	10	2100.00	0.00	2100.00	do	do
159	Dinesh	Sh.Suresh Kumar	BC	B.C.A. I	1904903	PMS	210.00	10	2100.00	0.00	2100.00	do	do
60	Manoj Kumar	Sh. Shyam Lal	BC	B.A.II	1801102	PMS	210.00	12	2520.00	0.00	2520.00	do	do
161	Ankit	Sh. Ram Kishan	BC	B.A.II	1801132	PMS	210.00	12	2520.00	0.00	2520.00	do	do
62	Ombir	Sh. Rajender	BC	B.A.II	1801146	PMS	210.00	12	2520.00	0.00	2520.00	do	do
63	Rohit	Sh.Dharampal	BC	B.A.II	1801149	PMS	210.00	12	2520.00	0.00	2520.00	do	do
64	Gulshan	Sh. Rajbir Singh	BC	B.A.II	1801207	PMS	210.00	12	2520.00	0.00	2520.00	do	do
65	Hitesh	Sh.Jaipal	BC	B.Com II	1802447	PMS	210.00	12	2520.00	90.00	2610.00	do	do
66	Ashish Kumar	Sh. Veerbhan	BC	B.A.III	1701399	PMS	210.00	12	2520.00	0.00	2520.00	do	do
67	Sonu Kumar	Sh. Leela Ram	BC	B.A.III	1701405	PMS	210.00	12	2520.00	0.00	2520.00	dAT.	I ESTE
68	Vinod *	Sh.Sushil	BC	B.A.III	1701423	PMS	210.00	12	2520.00	0.00	2520.00	do	11 991
69	Rahul	Sh. Rajender	BC	B.Com III	1702531	PMS	210.00	12	2520.00	0.00	2520.00	do	100
70	Ansh	Sh. Ram Niwas	BC	B.A.I	1901228	PMS	210.00	10	2100.00	6113.00	8213.00	do	yana Colleg

7	9.									- 2			
171	Varsha Rani	Sh.Krishan Lal	BC	B.A.II	1801117	PMS	210.00	12	2520.00	4013.00	6533.00	, do	do
172	Rohit	Sh.Harbhagwan	BC	B.A.II	1801208	PMS	210.00	12	2520.00	4133.00	6653.00	do	do
173	Pinki	Sh.Naresh Lal	BC	B.Com II	1802412	PMS	210.00	12	2520.00	3893.00	6413.00	do	do

1248572.00

SAT JINDA KALYANA COLLEGE, KALANAUR (ROHTAK) AWARD ROLL FOR THE NATIONAL SCHOLAR SHIP FOR THE SESSION 2019-20

Since DBT is done and Benefit Transfer (DBT) in Bank A/c of so that the date the date that the date	Sr. No.	Name of the Students	Father Name	Category	Class	College Roll N	Name of Scheme	Amount	Mode of Reciept	Date of Reciept of All five years
2 Mousam Naresh General B.Com. II 1802418 National Scholarship 10000.00 do do 3 Varsha Rajesh Kumar General B.Com. II 1802408 National Scholarship 10000.00 do do 4 Kavita Gagan General B.Com. I 1902625 National Scholarship 10000.00 do do		Indu	Sant Ram		B.Sc.II	1803602	National Scholarship	10000,00	Benefit Transfer (DBT) in Bank A/c of	students do not share the date with the college so that the date of reciept is not
3 Varsha Rajesh Kumar General B.Com. II 1802408 National Scholarship 10000.00 do do 4 Kavita Gagan General B.Com. I 1902625 National Scholarship 10000.00 do do	_	10.00			_	1802418	National Scholarship	10000,00	do	do
4 Kavita Gagan General B.Com. I 1902625 National Scholarship 10000.00 do do	_	The state of the s		_					do	do
4 Kavila Gagan General B.Com. 1 1702020 Francisco III 1		- Indiana - Indi		_	-		The second second control of the second seco			do

G.Total

1298572.00

Checked & Verfied

Nodal Officer

Principal

Sat Jinda Kalyana College Kalanaur (Rohtak) Haryana

ATTESTED

7/7

SAT JINDA	KALYANA	COLLEGE, KALANAUR (ROHTAK)	
-----------	----------------	----------------------------	--

Sr. No.	Name of the Student	Father Name	Caste	Class	College Roll No.	Name of Scheme	Maintanc e Rate	Maintance Month	Total Maintance	Course Fee	Other Component	Scholarship Amount	Mode of Reciept	Date of Reciept of All five years
						Post Matric Scholarship							Direct Benefit Transfer (DBT) in Bank A/c of Student	Since DBT is done and students do not share the date with the college so that the date of reciept is not available
300	Sombir	Kaliram	BC	B.A.I	120229002003		210	7	1470	0	0	1470		
2	Teena	Chaman lal	BC	B.A.I	120229002015	PMS	210	7	1470	0	0	1470	do	do
3	Muskan	Mukesh	BC	B.A.I	120229002020	PMS	210	7	1470	0	0	1470	do	do
4	Sonia	Rakesh	BC	B.A.I	120229002032	PMS	210	7	1470	0	0	1470	do	do
5	Jatin kumar	Naresh lal	BC	B.A.I	120229002036	PMS	210	7	1470	6353	0	7823	do	do
6	Indu	Shyam lal	BC	B.A.I	120229002048	PMS	210	7	1470	5513	0	6983	do	do
7	Sachin	Mahender kumar	BC	B.A.I	120229002050	PMS	210	7	1470	0	0	1470	do	do
8	Pinky	Pawan kumar	BC	B.A.I	120229002080	PMS	210	7	1470	0	0	1470	do	do
9	Somvati	Mahabir	BC	B.A.I	120229002114	PMS	210	- 6	1260	-0	0	1260	do -	do
10	Sweety	Sanjay	BC	B.A.I	120229002126	PMS	210	6	1260	0	0	1260	do	do
11	Sangita	Virender	BC	B.A.I	120229002143	PMS	210	6	1260	0	0	1260	do	do
12	Asha ram	Suresh	BC	B.A.I	120229002026	PMS	210	7	1470	6113	0	7583	do	do
13	Pooja	Naresh kumar	BC	B.A.I	120229002077	PMS	210	7	1470	. 0	0	1470	do	do
14	Virender	Rajender	BC	B.A.I	120229002107	PMS	210	6	1260	90	0	1350	do	do
1.5	Ankit	Karan singh	BC	B.A.I	120229002157	PMS	210	6	1260	0	0	1260	do	do
161	Deepak	Bani singh	BC	B.A.I	120229002159	PMS	210	6	1260	0	0	1260	do	do
175	Savita	awan kumar	SC	B.A.I	120229002009	PMS	300	- 7	2100	5753	0	7853		and the second second
18 F	Priyanka	agbir	SC	B.A.I	120229002011	PMS	300	7	2100	5513	0	7613	AIT	ESTED
19	Sachin	Satpal	SC	B.A.I	120229002012	PMS	300	7	2100	5873	0	7973	do	Melux
20 /	Akshay kumar J	ai kawar	SC	B.A.I	120229002013	PMS	300	7	2100	5873	0	7973	do	do Frinci
211	Narender A	Ashok kumar	SC	B.A.I	120229002017	PMS	Page 1 ₃₀₀	7	2100	6353	0	8453	Sat Jinda	Kalyana Colle (Roht&R) Harya

. 27	2 Kapil punia Yas	ishpal	SC	B.A.I	120229002028	PMS	300	7	2100	6353	0	8453	do	do
.23	3 Neha Dha	narm singh	SC	B.A.I	120229002033	PMS	300	7	2100	5513	0	7613	do	do
24	4 Ombir Bin	nder	SC	B.A.I	120229002039	PMS	300	7	2100	5873	0	7973	do	do
25	5 Ritika Roh	htash	SC	B.A.I	120229002040	PMS	300	7	2100	5993	0	8093	do	do
26	6 Anita Kan	nwar singh	SC	B.A.I	120229002042	PMS	300	7	2100	5753	0	7853	do	do
27	7 Sonia Sati	tish kumar	SC	B.A.J	120229002043	PMS	300	7	2100	5513	0	7613	do	do
28	Ajay Shis	ish ram	SC	B.A.I	120229002049	PMS	300	7	2100	5873	0	7973	do	do
29	Rohit Pal	singh	SC	B.A.I	120229002051	PMS	300	- 6	1800	6113	0	7913	do	do
30	Suraj Raje	jender	SC	B.A.I	120229002055	PMS	300	7	2100	6113	0	8213	do	do
31	Raveena Sure	resh kumar	SC	B.A.I	120229002059	PMS	300	7	2100	5513	0	7613	do	do
32	Jogender Man	ingat ram	sc	B.A.I	120229002062	PMS	300	7	2100	5873	0	7973	do	do
33	Anjali Inde	lerpal	SC	B.A.I	120229002067	PMS	300	7	2100	5993	0	8093	do	do
34	Kaushiya Kara	ran singh	SC	B.A.I	120229002068	PMS	300	7	2100	5513	0	7613	do	do
35	Rajnesh mehra Ravi	vinder kumar	SC	B.A.I	120229002070	PMS	300	7	2100	6113	0	8213	do	do
36	Kulvinder Rand	ndhir	SC	B.A.I	120229002071	PMS	300	. 7	2100	5873	0	7973	do	do
37	Rahul Ishw	war singh	SC	B.A.I	120229002073	PMS	300	7	2100	5873	0	7973	do	do
38	Pawan Zile	e singh	SC	B.A.I	120229002074	PMS	300	6	1800	5873	0	7673	do	do -
39	Neetu Daya	ya kishan	SC	B.A.I	120229002075	PMS	300	7	2100	5513	0	7613	do	do
40	Kajal Krisl	shan	SC	B.A.I	120229002088	PMS	300	7	2100	5513	0	7613	do	do
41	Prince Asho	ok kumar	sc	B.A.1	120229002093	PMS	300	6	1800	6113	0	7913	do	do
42	Meena Rajes	esh kumar	SC	B.A.1	120229002095	PMS	300	7	2100	5513	0	7613	do	do
43	Deenu Rame	nesh	SC	B.A.I	120229002100	PMS	300	6	1800	5873	0	7673	do	do
44	Nishant Nash	nib	SC	B.A.I	120229002104	PMS	300	6	1800	5873	0	7673	do	do
45	Kajal Satya	/awan 5	SC	B.A.I	120229002110	PMS	300	6	1800	5753	0	7553	do	do
46	Kapil Rame	iesh	SC	B.A.I	120229002112	PMS	300	6	1800	6113	0	7913	do	do
47	Madan lal Ramr	nniwas S	SC	B.A.I	120229002117	PMS	300	7	2100	6353	0	8453	do	do
48	Preeti Jeetp	pai	SC	B.A.I	120229002127	PMS	300	6	1800	5993	0	7793	do	do
49	Pooja Rajes	sh	SC	B.A.I	120229002129	PMS	300	6	1800	5753	0	7553	do	do
50	Mohit Suren	ender kumar S	SC	B.A.I	120229002132	PMS	300	6	1800	6113	0	7913		ESTEL
51	Rohit Rajes	sh !	SC	B.A.1	120229002133	PMS	300	6	1800	6113	0	7913	- T	
52	Vipin Rame	esh lal S	SC	B.A.I	120229002135	PMS	300	6	1800	5873	0	7673	do d	No Canh
53	Sonali Biren	nder 5	SC	B.A.I	120229002136	PMS	300	6	1800	5753	0	7553	do	do Pri
54	Neha Naren	ender !	SC	B.A.I	120229002141	PMS	Page 2300	6	1800	5513	0	7313	71.77	Kalyana C

1. 55	Ankit	Jagdish	SC	B.A.I	120229002142	PMS	300	6	1800	5873	0	7673	do	do
.56	Karan	Kanwar pal	SC	B.A.I	120229002145	PMS	300	6	1800	5873	0	7673	do	do
57	Kirti	Surender kumar	SC	B.A.I	120229002147	PMS	300	6	1800	5753	0	7553	do	do -
58	Anil kumar	Satyanarayan	SC	B.A.I	120229002149	PMS	300	6	1800	5873	0	7673	do	do
59	Taniya	Ishwar singh	SC	B.A.I	120229002150	PMS	300	6	1800	5753	0	7553	do	do
60	Mamta	Jagmender	SC	B.A.I	120229002151	PMS	300	6	1800	5753	0	7553	do	do
61	Babita	Raj kumar	SC	B.A.I	120229002152	PMS	300	6	1800	5753	0	7553	do	do
62	Manisha	Jgmandar	SC	B.A.I	120229002153	PMS	300	6	1800	5513	0	7313	do	do
63	Eesha	Baljeet	SC	B.A.I	120229002155	PMS	300	6	1800	5513	0	7313	do	do
64	Rishi pal	Krishan kumar	SC	B.A.I	120229002162	PMS	300	6	1800	6113	0	7913	do	do
65	Bhuwan	Tilakraj	SC	B.A.I	120229002163	PMS	300	6	1800	5873	0	7673	do	do
66	Monika	Jai bhagwan	BC	B.A.II	1901223	PMS	210	12	2520	0	0	2520	do	do
67	Jatin	Sanjay kumar	BC	B.A.II	1901275	PMS	210	12	2520	0	0	2520	do	do
68	Varsha	Satish	SC	B.A.II	1901221	PMS	300	12	3600	3773	0	7373	do	do
69	Pardeep	Suresh kumar	SC	B.A.II	1901224	PMS	300	6	1800	4373	0	6173	do	do
70	Pooja	Rohtas	SC	B.A.II	1901231	PMS	300	12	3600	3773	0	7373	do	do
71	Kavita	Pawan kumar	SC	B.A.II	1901236	PMS	300	- 12	3600	3773	0	7373	do	do
72	Ankit	Ramniwas	SC	B.A.II	1901238	PMS	300	12	3600	4133	0	7733	do	do
73	Laxmi rani	Satbir -	SC	B.A.II	1901242	PMS	300	12	3600	3773	0	7373	do	do
74	Yaman	Mahender singh	SC	B.A.II	1901243	PMS	300	6	1800	4373	0	6173	do	do
75	Sumit	Suresh kumar	SC -	B.A.II	1901246	PMS	300	12	3600	4373	0	7973	do	do
76	Manisha devi	Ajeet singh	SC	B.A.II	1901247	PMS	300	12	3600	4253	0	7853	do	do
77	Anjna	Prempal	SC	B.A.II	1901250	PMS	300	12	3600	3773	. 0	7373	do	do
78	Sukhwinder kumar	Sunder singh	SC	B.A.II	1901257	PMS	300	12	3600	4133	0	7733	do	do
79	Sushma	Ram chander	SC	B.A.II	1901258	PMS	300	12	3600	3773	0	7373	do	do
80	Ravina kumari	Suresh kumar	SC	B.A.II	1901261	PMS	300	12	3600	3773	0	7373	-do	do
81 1	Payal	Prem kumar	SC	B.A.II	1901263	PMS	300	12	3600	4253	0	7853	ATT	ESTE
82 1	Vitu	Subhash chander	SC	B.A.II	1901268	PMS	300	12	3600	3773	0	7373	do -	do
83 I	Devdutt	Raj kumar	SC	B.A.II	1901269	PMS	300	12	3600	4613	0	8213	do a	11 Dish
84	Mamta rani	Vijender kumar	SC	B.A.II	1901272	PMS	300	12	3600	3773	0	7373	do	do
85 I	arveen	Harbhaj	SC	B.A.II	1901272	PMS	300	12	3600	4373	0	7973	do	dBrin
86 2	larender	Rajpal	SC	B.A.II	1901277	PMS	300	12	3600	4613	0	0.0000000000000000000000000000000000000	at Jimda K	
87	/ishnu	Rajbir	SC	B.A.II	1901279	PMS	Page 3300	12	3600	4133	0		Calaggur (do

. 88	Rahul	Ram niwas	SC	B.A.II	1901297	PMS	300	12	3600	4373	0	7973	do	do
89	Mohini	Satpal	SC	B.A.II	1901303	PMS	300	12	3600	3773	0	7373	do	do
90	Babita	Rajender	SC	B.A.II	1901316	PMS	300	12	3600	4013	0	7613	do	do
91	Parveen	Om parkash	SC	B.A.II	1901325	PMS	300	12	3600	4973	0	8573	do	do
92	Sahil	Rajbir singh	sc	B.A.II	1901326	PMS	300	12	3600	4373	0	7973	do	do
93	Varsha	Sanjay kumar	SC	B.A.II	1901331	PMS	300	12	3600	3773	0	7373	do	do
94	Kavita	Satbir singh	SC	B.A.II	1901333	PMS	300	12	3600	3773	0	7373	do	do
95	Pushpa	Subhash chander	SC	B.A.II	1901337	PMS	300	12	3600	3773	0	7373	do	do
96	Darpen	Suresh chander	SC	B.A.II	1901346	PMS	300	12	3600	4013	0	7613	do	do
97	Savita	Ishwar singh	SC	B.A.II	1901348	PMS	300	12	3600	4013	0	7613	do	do
98	Priti	Hawa singh	SC	B.A.II	1901360	PMS	300	12	3600	4013	0	7613	do	do
99	Varsha rani	Krishan lal	вс	В.А.Ш	1801117	PMS	210	12	2520	4213	0	6733	do	do
100	Ombir	Rajender	BC	B.A.III	1801146	PMS	210	12	2520	0	0	2520	do	do
101	Rohit	Dharmpal	BC	B.A.III	1801149	PMS	210	12	2520	0	0	2520	do	do
102	Rohit	Harbhagwan	BC	B.A.III	1801208	PMS	210	12	2520	4333	0	6853	do	do
103	Manoj kumar	Shyamlal lal	ВС	B.A.III	1801102	PMS	210	12	2520	0	0	2520	do	do
104	Aarti	Satish	SC	B.A.III	1801104	PMS	300	12	3600	4213	0	7813	- do	do
105	Mamta	Ram niwas	sc	B.A.III	1801109	PMS	300	12	3600	3973	0	7573	do	do
106	Sagar	Subhash	SC ·	В.А.Ш	1801116	PMS	300	12	3600	4573	0	8173	do	do
107	Priyanka	Kuldeep	sc	B.A.III	1801125	PMS	300	12	3600	4573	0	8173	do	do
108	Renu	Shyam lal	sc	B.A.III	1801128	PMS	300	12	3600	3973	- 0	7573	do	do
109	Pankaj	Surinder kumar	sc	B.A.III	1801130	PMS	300	6	1800	4333	0	6133	do	do
110	Saheni	Babu lal	SC	B.A.III	1801139	PMS	300	12	3600	4813	0	8413	do	do
111	Varsha	Shyam sunder	SC	B.A.III	1801140	PMS	300	12	3600	3973	0	7573	do	do
112	Vishav jeet	Sant lal	SC	B.A.III	1801147	PMS	300	12	3600	4573	0	8173	do	do
113	Jyoti	Jagdish	SC	B.A.III	1801156	PMS	300	12	3600	4213	0	7813	-ado	do
114	Kiran	Jagdish	SC	B.A.III	1801158	PMS	300	12	3600	4213	0	7813		TESTEI
115	Parmila	Satyawan	SC	B.A.III	1801161	PMS	300	12	3600	4213	0	7813	do	do -
116	Nishu choudhary	Kashmiri lal	sc	B.A.III	1801172	PMS	300	12	3600	3973	0	7573	do	Meldon
117	Madhu	Om prakash	SC	B.A.III	1801173	PMS	300	12	3600	4213	0	7813	do	do
118	Usha	Randhir	SC	B,A.III	1801189	PMS	300	12	3600	4453	0	8053	do	do Prin
119	Meenakshi	Om parkash	SC	B.A.III	1801192	PMS	300	12	3600	3973	0	7573	Satulinda	
120 5	Sarika	Sathir	SC	B.A.III	1801197	PMS	Page 4300	12	3600	4213	0	7813	Kalanaur	de de

121	Rinku rani	Surender kumar	SC	B.A.III	1801199	PMS	300	12	3600	4213	0	7813	do	do
122	Deepak	Veerbhan	SC	B.A.III	1801200	PMS	300	12	3600	4573	0	8173	do	do
1 - 123	Gourav	Naresh kumar	SC	B.A.III	1801214	PMS	300	12	3600	4573	0	8173	do	do
124	Aman kumar	Naresh kumar	SC	B.A.III	1801217	PMS	300	12	3600	5173	0	8773	do	do
125	Vivek	Roop singh	SC	B.A.III	1801219	PMS	300	12	3600	4573	0	8173	do	do
126	Deepak	Surender	SC	B.A.III	1801221	PMS	300	12	3600	4573	0	8173	do	do
127	Sheetal	Chatter singh	SC	B.A.III	1801223	PMS	300	12	3600	4213	0	7813	do	do
128	Нарру	Karan singh	SC	B.A.III	1801230	PMS	300	12	3600	4333	0	7933	do	do
129	Nisha	Ramesh chander	SC	B.A.III	1801231	PMS	300	12	3600	4213	0	7813	do	do
130	Preeti	Bansi lal	SC	B.A.III	1801233	PMS	300	12	3600	4213	0	7813	do	do
131	Sumit kumar	Dharmveer singh	SC	B,A.III	1801234	PMS	300	6	1800	4813	0	6613	do	do
132	Amit	Haripal	SC	B.A.III	1801251	PMS	300	12	3600	4813	0	8413	do	do
133	Muskan	Ram mehar	BC	B.C.A.I	120229011002	PMS	210	- 6	1260	0	0	1260	do	do
134	Surender kumar	Rameshwar	SC	B.C.A.I	120229011005	PMS	300	6	1800	14933	0	16733	do	do
135	Dinesh	Suresh kumar	BC	B.C.A.II	1904903	PMS	210	12	2520	0	0	2520	do	do
136	Pooja	Bahadur mal	BC	B.Com II	1902610	PMS	210	12	2520	3893	0	6413	do	do
137	Virappan	Suresh kumar	SC	B.Com II	1902601	PMS	300	12	3600	4253	0	7853	do	do
138	Shivani	Anand pal	SC	B.Com II	1902614	PMS	300	12	3600	3893	. 0	7493	do	do
139	Alka -	Rakesh kumar	SC	B.Com II	1902615	PMS	300	12	3600	3893	- 0	7493	do	do
140	Sanjana	Om parkash	SC	B.Com II	1902619	PMS	300	12	3600	3893	0	7493	do	do
141	Manoj	Shribhagwan	SC	B.Com II	1902620	PMS	300	12	3600	4253	0	7853	do	do
142	Pinki	Rajesh kumar	SC	B.Com II	1902621	PMS	300	12	3600	3893	o	7493	do	do
143	Deepak kumar	Ishwar	SC .	B.Com II	1902632	PMS	300	12	3600	4253	0	7853	do	do
144	Tamanna	Rameshwer	SC	B.Com II	1902633	PMS	300	12	3600	3893	0	7493	do	do
145	Aarju	Mir singh	SC -	B.Com II	1902634	PMS	300	12	3600	3893	0	7493	do	do
146	Pinki	Naresh lal	BC	B.Com III	1802412	PMS	210	12	2520	4093	0	6613	do	do
147	Gauran	Pardeep kumar	BC	B.Com III	1802419	PMS	210	6	1260	0	0	1260	202	4.
148	Muskaan	Bansilal	SC	B.Com III	1802410	PMS	300	12	3600	4093	0	7693	AT	TESTE
149	Santosh	Zile singh	SC	B.Com III	1802411	PMS	300	12	3600	4093	0	7693	do -	, do n 0
150	Reetu	Suresh kumar	SC	B.Com III	1802417	PMS	300	12	3600	4093	0	7693	đo	Myllin
151	Divya	Rajesh	SC	B.Com III	1802422	PMS	300	12	3600	4093	0	7693	do ·	deprincip
152	Ashish kumar	Sanjay	SC	B.Com III	1802441	PMS	300	12	3600	4453	0	8053 C		alyana Colle
153	Sumit kumar	Rajesh kumar	SC	B.Com III	1802442	PMS	Page 5300	12	3600	4453	0	8053	Calanaur /	diyarta Cone

154	Kiran	Dharmbir	SC	B.Com III	1802449	PMS	300	12	3600	4093	0	7693	do	do
155	Rahul	Shri niwas	SC	B.Com III	1802450	PMS	300	12	3600	4453	0	8053	do	do
156	Nitin	Pardeep	sc	B.Com III	1802452	PMS	300	12	3600	4453	0	8053	do	do
157	Amit	Suresh chander	sc	B.Com III	1802476	PMS	300	12	3600	4453	0	8053	do	do
158	Neha	Krishan lal	BC	B.Com. I	120229003003	PMS	210	7	1470	0	0	1470	do	do
159	Suman	Suresh	BC	B.Com. I	120229003009	PMS	210	7	1470	0	0	1470	do	do
160	Sarla	Mahender	ВС	B.Com. I	120229003011	PMS	210	7	1470	0	0	1470	do	do
161	Aashish	Ashok kumar	BC	B.Com. I	120229003013	PMS	210	7	1470	0	0	1470	do	do
162	Nakita	Subhash	sc	B.Com. I	120229003004	PMS	300	7	2100	5633	0	7733	do	do
163	Komal	Jai kuwar	SC	B.Com. I	120229003007	PMS	300	7	2100	5633	0	7733	do	do
164	Deepika	Sanjay	SC -	B.Com. I	120229003008	PMS	300	7	2100	5633	0	7733	do	do
165	Preeti	Kawal singh	SC ·	B.Com. 1	120229003010	PMS	300	7	2100	5633	0	7733	do	do
166	Nishita	Chuhar singh	ВС	B.Sc. I	120229015005	PMS	210	7	1470	0	0	1470	do	do
167	Deepanshu	Ram kishan	SC	B.Sc. III	1803607	PMS	300	12	3600	15093	0	18693	do	do

SAT JINDA KALYANA COLLEGE, KALANAUR (ROHTAK) AWARD ROLL FOR THE NATIONAL SCHOLAR SHIP FOR THE SESSION 2020-21

Sr. No.	Name of the Students	Father Name	Category	Class	College Roll No.	Amount	Mode of Reciept	Date of Reciept of All five years
1	Indu	Sant Ram	General	B.Sc.III	1803602	10000	Direct Benefit Transfer (DBT) in Bank A/c of Student	Since DBT is done and students do not share the date with the college so that the date of reciept is not available
2	Mousam	Naresh	General	B.Com, III	1802418	10000	do	do
3	Varsha	Rajesh Kumar	General	B.Com. III	1802408	Page dooo	do	do



Page 6

6/7

2	4 Kavita	Gagan	General	B.Com. II	1902625	10000	do	do
× .	5 Vandana	Mukesh	General	B.A.I	120229002023	10000	do	do
	6 Neha	Suraj Bhan	General	B.A.I	120229002018	10000	do	do
	7 Komal	Jai Kuwar	SC	B.Com I	12022900 3007	10000	do	do
	8 Tannu	Pushgar	General	B.Com I	12022900 3012	10000	do	do

80000

G.Total

1229373

Checked & Verfied

Member

Shah-Member Nodal Officer

Principal

ATTESTED